[ s: R
FRAEA H| SEERLITAE | ERRITE | SERRLTE | SERRLTE
FHExtg 1A 120 2H14H 3H2H 5H26H
BiHOEE A 1| ERKLE ety ety ety ety
A 2| KfE £ 55 5 &
A 3EKIFH B4y 14:16 12:20 10:00 10:12
A AlKAT m 1.54 1.63 0.53 1.58
A 6|k m 0. 30 0.58 0.64 0.20
A TR m 0.10 0.10 0.10 0.10
A 8|XUR T 4.0 3.2 5.5 22.6
A 9[KIE C 6.0 5.7 4.8 15. 0
A 11448 faEl | meaEl | EAE | RaEH
A I2|REK 5L R 5 R
A 13)BHEE cm 100 < 100 < 100 < 100 <
AEVERERBE (B 1|pH 7.5 7.1 7.4 7.7
UK C) (9) (12) (11) (16)
B 2|D0 mg/1 13 12 12 11
B 3|BOD mg/1 < 0.5 < 0.5 < 0.5 1.5
B 4|coD mg/1 0.9 0.9 1.0 1.3
B 5/SS mg/1 <1 <1 1 <1
B 6| KIGHFE MPN/100m1 220 110 330 270
B T|iREH mg/1 0.63 0.77 0.75 0.53
B 8fKU mg/1 0.012 0.014 0.013 0.017
HEXRHE (D 1| 7=/ — VA mg/1 — — — —
D 2|4 mg/1 — — — —
D 3|HESH mg/1 — < 0.004 — —
D A\ERIERR mg/1 — — — —
D 5|t~ mg/1 — — — —
D 6/(D)rrAi mg/1 — — — —
D 8 n—~%HVUtmE mg/1 — — — —
Bt |[E 1|7 UoEoTHEESR mg/1 < 0.05 < 0.05 < 0.05 < 0.05
E  2|difdlsHe = mg/1 < 0.001 0. 003 0. 001 0. 002
E  3|HMEHERE R mg/1 0.53 0.74 0. 68 0.39
E 4| GHEZ R (ON) mg/1 — < 0.1 — —
E 94N NY UEREEY o mg/1 < 0.003 0.010 0.013 0.010
E 24|7mwu>7 4 /)la mg/m’ <2 <2 <2 <2
HIERERED |[F 2|¥RE = 0.8 0.2 0.3 0.4
F 5| #EEKRIGHE fi#/100m1 — 2 - -
F 6% RIE (0-157) — it (—) — —
F 231 A4 mg/1 — — — —
FEREE S 160010-58 | 160010-61 | 160010-70 | 170010-2




[ s: R
FRAEA H| SEERLITAE | ERRLITE | SERRLTE | SERRLTE
FHExtg 6H9H 7TH21H 8H3H 9H26H
BiHOEE A 1| ERKLE ety ety ety ety
A 2| KfE iS5 75 75 5
A 3EKIFH B4y 11:30 17:10 10:40 9:45
A AlKAT m 1.50 1.62 1.54 1.56
A 6|k m 0. 30 0.63 0.22 0.41
A TR m 0.10 0.10 0.10 0.10
A 8|XUR T 26.9 29.9 27.0 23.4
A 9[KIE C 19.7 21.6 21.4 17.5
A 11448 sl | meaEl | EAE | EaEH
A I2|RK i 5L R 5 R
A 13)BHEE cm 100 < 100 < 100 < 100 <
AEVERERBE (B 1|pH 7.7 7.6 7.4 7.7
UK C) (16) (18) (25) (22)
B 2|D0 mg/1 9.6 8.7 8.8 9.6
B 3|BOD mg/1 < 0.5 0.5 < 0.5 0.5
B 4|coD mg/1 1.1 1.2 1.2 1.0
B 5/SS mg/1 <1 <1 <1 <1
B 6| KIGHFE MPN/100m1 1, 300 3, 500 7,900 7, 000
B T|iREH mg/1 0.41 0. 44 0.41 0. 49
B 8fKU mg/1 0. 025 0.023 0.017 0.016
HEXRHE (D 1| 7=/ — VA mg/1 — — — —
D 2|4 mg/1 — — — —
D 3|Es mg/1 < 0.004 — 0.012 —
D AR mg/1 — — — —
D 5|~ mg/1 — — — —
D 6/(D)ruAi mg/1 — — — —
D 8 n—~%HVUtmE mg/1 — — —
Bt |[E 1|7 UoEoTHEESR mg/1 < 0.05 < 0.05 < 0.05 < 0.05
E 2|MmHsEER mg/1 < 0.001 < 0.001 0. 002 < 0.001
E  3|HMEHERE R mg/1 0.27 0.20 0.15 0.20
E 4| GHEZ R (ON) mg/1 0.1 0.2 0.3 —
E 94N NY UEREEY o mg/1 0.015 0.018 0.016 0.012
E 24|7mwu>7 4 /)la mg/m’ <2 <2 <2 <2
HERERED |F 2|¥RE = 0.4 0.3 0.5 0.1
F 5| #EERIGHE {#/100m1 60 — 120 —
F 6 RS RIE (0-157) 2 (—) — 2t (—) —
F 231 4> mg/1 11 — 12 —
FEREE S 170010-5 | 170010-14 | 170010-19 | 170010-27




[ s: R
FRAEA H| SEERLITAE | ERRITHE | SERRLTEE | SERRLSE
FHExtg 1012 11717H 12J119H 1A 120
BiHOEE A 1| ERKLE ety ety ety ety
A 2| KfE 5] = 75 5
A 3EKIFH B4y 13:57 10:30 16:45 10:25
A AlKAT m 1.54 1.56 1.53 1.55
A 6|k m 0.26 0.59 0.41 0.47
A TR m 0.10 0.10 0.10 0.10
A 8IEIA T 22.2 7.0 3.0 3.4
A 9[KIE C 19.1 10. 0 5.4 2.7
A 11448 sl | meaEl | EAE | EaEH
A I2|RK i 5L R 5 R
A 13)BHEE cm 100 < 100 < 100 < 100 <
AEVERERBE (B 1|pH 7.8 7.2 7.3 7.6
(KR °C) (22) (16) (13) (9)
B 2|D0 mg/1 9.6 11 13 14
B 3|BOD mg/1 < 0.5 0.7 1.1 0.9
B 4|coD mg/1 0.8 1.1 0.9 0.9
B 5/SS mg/1 <1 <1 <1 <1
B 6| KIGHFE MPN/100m1 4,900 1, 100 790 49
B T|iREH mg/1 0. 44 0. 66 0.72 0.95
B 8fKU mg/1 0.014 0.011 0. 006 0. 007
HEAEE (D 1| 7=/ —HH mg/1 — < 0.05 — —
D 2|4 mg/1 — < 0.004 — —
D 3|HESH mg/1 — < 0.004 — —
D AR mg/1 — < 0.03 — —
D BRI~ T mg/1 — < 0.005 — —
D 6/(®)7nrAi mg/1 — < 0.05 — —
D 8 n—~%HVUtmE mg/1 — < 0.5 — —
Bt |[E 1|7 UoEoTHEESR mg/1 < 0.05 < 0.05 < 0.05 < 0.05
E 2|MmHsEER mg/1 < 0.001 < 0.001 < 0.001 0. 003
E  3|HMEHERE R mg/1 0.18 0.29 0.57 0.94
E 4| GHEZ R (ON) mg/1 — 0.4 — —
E 94N NY UEREEY o mg/1 0.012 0.010 0. 006 0. 004
E 24|7mwu>7 4 /)la mg/m’ <2 <2 <2 <2
HERERED |F 2|¥RE = 0.4 0.3 0.2 0.1
F 5| #EERIGHE fi#/100m1 — 180 — —
F 6 RS RIE (0-157) — it (—) — —
F 23+ 4 mg/1 — — — —
FEREE S 170010-32 | 170010-37 | 170010-42 | 170010-45




[ s: R
PAEEH B FRk1sE | FRk1s4E
FHExtg 2H2H 3H8H
BiHOEE A 1| ERKLE ety ety
A 2| KfE iS5 75
A 3|ERAKEEZ B4y 13:00 13:15
A AlKAT m 1.70 1.67
A 6K m 0.41 0. 69
A TR m 0.10 0.10
A 8IEIA T 8.4 15.0
A 9[KIE C 7.5 9.8
A 11448 ffasEl | e
A 12|BRK R R
A 13)BHEE cm 100 < 100 <
AEIEEREE (B 1|pH 7.3 7.4
UK C) (12) (14)
B 2|D0 mg/1 12 11
B 3|BOD mg/1 < 0.5 0.7
B 4|coD mg/1 1.1 1.0
B 5/SS mg/1 <1 <1
B 6| KIGH B MPN/100m1 33 11
B T|iREH mg/1 1.1 0.73
B 8fKU mg/1 0. 020 0.013
HEXRHE (D 1| 7=/ — VA mg/1 — —
D 2|4 mg/1 — —
D 3|HESH mg/1 < 0.004 —
D AR mg/1 — —
D 5|~ mg/1 — —
D 6/(D)ruAi mg/1 — —
D 8 n—~%HVUtmE mg/1 — —
HX#ENL |E T orE=THREES mg/1 < 0.05 0.10
E  2|difdlsHe = mg/1 0. 008 0. 003
E 3|EERIEE R mg/1 1.0 0.61
E 4/ fGHREZEF (ON) mg/1 — —
E 9|4 /WKYUERREY mg/1 0.017 0. 009
E 24|7mwu>7 4 /)la mg/m’ <2 <2
HIERERERE |F 2B = 0.3 0.3
F 5| #EERIGHE fi#/100m1 8 —
F o 6JREERME (0-157) 2t (—) —
F 23+ 4 mg/1 — —
FEREE S 170010-48 | 170010-53




gt & A R
FRAEA H| SEERLITAE | ERRITE | SERRLTE | SERRLTE
FHExtg 1A 120 2H14H 3H2H 5H26H
BB (A L EKAE e e e e
A 2| KfE £ 55 5 &
A 3EKIFH B4y 14:40 11:55 10:22 10:40
A 6K m 5.0 5.0 5.0 5. 00
A TBRAOKEE m 0.10 0.10 0.10 0.10
A 8IEIA T 3.7 6.0 5.8 24.3
A 9[KIE C 6.7 5.5 6.0 18.0
A 11448 faEl | mesEl | EAE | RaEH
A I2|REK i 5L R R R
A 13)BHLEE cm 100 < 100 < 100 < 100 <
AEIEEREE (B 1|pH 7.7 7.5 7.7 7.9
(KR °C) (8) (12) (11) (16)
B 2|D0 mg/1 12 13 13 9.8
B 3|BOD mg/1 1.4 1.7 2.3 1.6
B 4|coD mg/1 2.0 2.0 3.1 2.0
B 5/SS mg/1 3 3 6 2
B 6| KIGHHEK MPN/100m1 33 33 33 17
B T|iREH mg/1 0.52 0.51 0. 64 0.41
B 8fU mg/1 0. 009 0. 008 0.017 0. 009
HX#ENL |E T UorE=THEES mg/1 — < 0.05 — —
E 4| GHEZE (ON) mg/1 — 0.2 — —
E 94NV KD EERED v mg/1 — < 0.003 — —
E 24|Z7un” 4)la mg/m’ — 15 — —
HIERERED |F 2|¥RE iy — 1.1 — —
F 5| #EEKRIGHE fi#/100m1 — 0 - -
F 6 IR E (0-157) — 2t (—) — —
FEREE S 160010-58 | 160010-61 | 160010-70 | 170010-2
FRAEA H| SEERLITAE | ERRLITHE | SERRITE | SERRLTE
FHExtg 6H9H 7TH21H 8H3H 9H26H
BB (A L EKAOE I e e e
A 2| KfE 75 5 75 &
A 3BKIEH B4y 12:00 16:18 11:22 9:15
A 6|k m 5. 00 5. 00 5. 00 5. 00
A TR m 0.10 0.10 0.10 0.10
A 8IEIA T 24.6 30.0 28.3 24.0
A 9PKIE C 20.0 23.5 23.6 21.7
A 11448 faEl | meaEl | EAE | EaEH
A I2|REK i 5L R R 5
A 13|BHEE cm 100 < 100 < 100 < 100 <
AEIEEREE (B 1|pH 8.3 8.7 8.5 9.3
(KR °C) (14) (18) 27 (23)
B 2|D0 mg/1 9.5 8.4 8.6 8.7
B 3|BOD mg/1 1.1 1.5 1.0 2.8
B 4|coD mg/1 1.9 2.1 2.4 5.5
B 5/SS mg/1 1 2 1 4
B 6| KIGHFEK MPN/100m1 130 1, 300 3, 500 1,100
B T|iREH mg/1 0.35 0.53 0. 47 0.94
B 8ifY mg/1 0.010 0. 025 0.018 0. 031
Bt |E 1|7 UEoTHEESR mg/1 < 0.05 < 0.05 < 0.05 —
E 4| GHEZFE (ON) mg/1 0.2 0.4 0.4 —
E 94NN UERREY o mg/1 < 0.003 0. 007 < 0.003 —
E 24|7mu74/la mg/m’ 4 — 7 —
HIERERED |[F 2|¥RE = 1.1 1.5 1.8 —
F 5| #EEKRIGHE fi#/100m1 1 — 2 -
F 6 R E (0-157) 2 (—) — 2t (—) —
FEREE S 170010-5 | 170010-14 | 170010-19 | 170010-27




gt & A R
FRAEA H| SEERLITAE | ERRITHE | SERRLTEE | SERRLSE
FHExtg 1012 11717H 12J119H 1A 120
BB (A L EKAE e e e e
A 2| KfE 5] = 75 5
A 3|ERAKEEZ B4y 13:24 11:00 14:20 11:03
A 6|k m 5. 00 5. 00 5. 00 5. 00
A TBRAOKEE m 0.10 0.10 0.10 0.10
A 8IEIA T 27.1 7.8 3.8 2.6
A 9[KIE C 20. 4 13.0 6.0 4.7
A 11448 faEl] | meaEl | EAE | EaEH
A I2|REK 5L R R R
A 13)BHLEE cm 87 100 < 100 < 100 <
AEVERET B 1|pH 7.7 7.7 7.5 7.6
(KR °C) (23) (16) (14) (10)
B 2|D0 mg/1 8.8 10 13 13
B 3|BOD mg/1 1.7 0.5 < 0.5 < 0.5
B 4|coD mg/1 4.1 2.8 1.6 1.4
B 5/SS mg/1 3 1 1 <1
B 6| KIGHHEK MPN/100m1 2,200 14 170 2
B T|iREH mg/1 0.95 0.72 0.84 0.63
B 8fKU mg/1 0.013 0. 006 0. 004 0. 006
HX#ENL |E T orE=THEES mg/1 — < 0.05 — —
E 4| GH#EZE (ON) mg/1 — 0.2 — —
E 94NV NY EERED v mg/1 — < 0.003 — —
E 24|7mua>74/)la mg/m’ — 8 — —
HIEREREE |F 2% JE — 1.6 — —
F 5| #EEKRIGHE fi#/100m1 — 10 - -
F 6 IR E (0-157) — 2t (—) — —
R %S 170010-32 | 170010-37 | 170010-42 | 170010-45
AR B FRk1sE | FERk1s4E
FHExtg 2H2H 3H8H
Bt A 1 BOKGLE i e
A 2| KfE 5 75
A 3|ERAKEEZ B4y 12:10 12:20
A 6K m 5. 00 5. 00
A TIBRAOKEE m 0.10 0.10
A 8IEIA T 9.2 15.0
A 9PKIE C 7.0 8.5
A 11448 fasm] | B
A 12|BK 5L i 5L
A 13|BHLEE cm 100 < 100 <
AEIEBREE (B 1|pH 7.6 7.6
(KR °C) (11) (14)
B 2|D0 mg/1 12 12
B 3|BOD mg/1 0.7 1.1
B 4|coD mg/1 2.0 2.1
B 5/SS mg/1 2 3
B 6| KRIBERE MPN/100m1 4 2
B 7|HER mg/1 0.71 0.74
B 8fU mg/1 0.014 0.011
BX#ENL |E T oE=THEES mg/1 < 0.05 —
E 4| GHREZE (ON) mg/1 0.2 —
E 94N NY EEREY mg/1 < 0.003 —
E 24|7wmu7 ()la mg/m’ 14 —
HERERED |[F 2| ¥R = 1.6 —
IE 2PN fi#/100m1 1 —
F o 6RE R E (0-157) (=) —
FEREE S 170010-48 | 170010-53




[t s:  Fnm
FRAAEA B SERRITHE | SERRITHE | SERRITAHE | SERRLTAE
SO 1A12A 2A14H 3H2H 5H26H
BHBLR (A L ERKAIE Pty Wil Wil Wil
A 2| RME B i i i
A 3|ELKEEH B4y 14:55 11:35 10:50 11:16
A 4KAT m 1.17 1.20 1.22 1.20
A 6| BKEE m 0.73 1.04 1.03 0. 20
A TERAOKEE m 0.10 0.10 0.10 0.10
A 8IFIA C 3.0 6.3 5.8 23.2
A 9KIR C 6.5 5.2 5.6 17.5
A 11448 gy | BEFEY | BEeFEY | EEeFEY
A 12|BK 5L 5L 5L 5L
A 13|EE cm 100 < 100 < 100 < 100 <
AVEREEE B 1|pH 7.7 7.6 7.7 8.0
OKIR:C) (13) (10) (11) (15)
B 2|DO mg/1 12 13 12 11
B 3|BOD mg/1 0.6 < 0.5 0.6 1.4
B 4|COD mg/1 1.4 1.1 1.7 1.8
B 5|SS mg/1 <1 1 2 2
B 6| KIGERE MPN/100m1 330 330 330 940
B T|iREH mg/1 0. 50 0.58 0.61 0. 47
B 8y mg/1 0.019 0.013 0.014 0. 026
e HE[C 1A KITA mg/1 - - - —
C 2/(®>T7v mg/1 — — — —
C 418 mg/1 — — — —
C 5/6ffirmxi mg/1 — — — —
cC 6lt# mg/1 0. 001 0. 001 < 0.001 0. 002
C  TIkeE mg/1 — — — —
C 8|7/ F/LkER mg/1 — — — —
C 9|PCB mg/1 — — — —
C 10|rYV I TFL mg/1 — — — —
C 1|7 hT7Z7uvuxFL v mg/1 — — — —
C 12| bk mg/1 — — — —
C 13|\¥r7muaRrB mg/1 — — — —
C l4|1:2-y7vouxH mg/1 — — — —
C 15|1-1-1FVZmm=H mg/1 — — — —
C 16|1-1-2hV 7= mg/1 — — — —
C 17|1-1-YZupnxFL mg/1 — — — —
C 18| &A-1-2V/mu=xFL mg/1 — — — —
C 19|1:3-Y7unra~y mg/1 — — — —
C 20|F 7T A mg/1 — — — —
C 21|v=T 2 (CAT) mg/1 — — — —
C 22|/ FARANT mg/1 — — — —
c 23| ¥r mg/1 — — — —
cC 24zl mg/1 — — — —
C 25|5-%% mg/1 — — — —
C 260139 mg/1 — — — —
BEAKHIH] D 1| 7=/ — mg/1 — — — —
D 2|4 mg/1 — — — —
D 3|E& mg/1 — < 0.004 — —
D 4\ IEfRIEER mg/1 — — — —
D 5|~ mg/1 — — — —
D 6/(&)7nrLi mg/1 — — — —
D 8ln—~FY HYE mg/1 — — — —
FRENL |E |7 UoE=THEES mg/1 0. 05 < 0.05 < 0.05 < 0.05
E 2|HHEER mg/1 0.001 0.001 0. 002 < 0.001
E 3|iHERREER mg/1 0.38 0. 49 0. 45 0.32
E 4/ G#EZEFEON) mg/1 — 0.1 — —
E 9NV NY VEREEY o mg/1 0. 005 < 0.003 < 0.003 0.013
E 24|7ou7 ¢)la me/m’ 4 4 12 2
HUERBRES |F 2\VBE B 1.1 1.2 2.1 1.2
I E- SN T {#/100m1 — 55 — —
F 6 EREE (0-157) — Rk (—) — —
F23/iEieA 4> mg/1 — — — —
SR E S 160010-58 | 160010-61 | 160010-70 | 170010-2




[t s:  Fnm
FRAAEA B SERRITHE | SERRITHE | SERRITAHE | SERRLTAE
SO 6H9H 7TH21H 8H3H 9H26H
HUHLER A 1[EKRACE Pty Wil Wil Wil
A 2| RME i i i i
A 3|ELKEEH B4y 12:35 15:46 11:48 11:40
A 4KAT m 1.31 1. 48 1.26 1.23
A 6| BKEE m 0. 40 0. 86 1.20 1.10
A TERAOKEE m 0.10 0.10 0.10 0.10
A 8IFIA C 26. 6 32.0 32.0 24.5
A 9KIR C 21.6 24.8 25.0 19.8
A 11448 gl | BEFEY | BEeFEY | EBEFEY
A 12|BK 5L 5L 5L 5L
A 13|EE cm 100 < 100 < 100 < 100 <
AVEREEE B 1|pH 7.8 7.8 7.9 8.0
OKIR:C) (15) (17) 27 (23)
B 2|DO mg/1 9.4 8.5 9.0 9.8
B 3|BOD mg/1 1.8 0.8 < 0.5 1.6
B 4|COD mg/1 2.2 1.9 1.8 2.6
B 5|SS mg/1 3 2 2 2
B 6| KIGFERE MPN/100m1 490 11, 000 7,900 7,900
B T|iREH mg/1 0. 40 0. 49 0.43 0.62
B 8y mg/1 0. 022 0. 027 0. 025 0. 021
B FEC 1{HFRITA mg/1 < 0.001 — — —
cC 2/®vTv mg/1 <0.1 — — —
C 4|8 mg/1 < 0.005 — — —
C 5|6f7mL mg/1 < 0.005 — — —
C 6lt# mg/1 0. 002 0. 002 0. 002 0. 001
C  TIfIKER mg/1 < 0. 0005 — — —
C 8|7/ F/LKER mg/1 < 0. 0005 — — —
C 9|PCB mg/1 < 0. 0005 — — —
C 10|y Zoox=FL o mg/1 < 0.001 — — —
C 1|7 +IZ7vpRZF LV mg/1 < 0.001 — — —
C 12| bk mg/1 < 0. 0002 — — —
C 13|¥rumAHy mg/1 < 0.001 — — —
C l4|l-2-Yr7umn=xH mg/1 < 0.0004 — — —
C 15|1-1-1hVZmBRZH mg/1 < 0.001 — — —
C 16|1-1-2hU BT H mg/1 < 0. 0006 — — —
C 17|1-1-YZupnxFL mg/1 < 0.001 — — —
C 18| A-1-2V/mu=xFL mg/1 < 0.001 — — —
C 19|1-3-Y7mmnru~y mg/1 < 0. 0002 — — —
C 20|F 7T A mg/1 < 0. 0006 — < 0. 0006 —
C 21|y~ (CAT) mg/1 < 0.0003 — < 0.0003 —
C 20FF_HNT mg/1 < 0.001 — < 0.001 —
c 23| ¥r mg/1 < 0.001 — — —
cC 24leLv mg/1 < 0.002 — — —
C 25|5o% mg/1 0.3 — — —
C 26/1F9H % mg/1 < 0.1 — — —
BEAKHIH] (D 1| 7=/ — NV mg/1 — — — —
D 2|4 mg/1 — — — —
D 3|E# mg/1 < 0.004 — < 0.004 —
D 4\ IEfREER mg/1 — — - —
D 5|~ mg/1 — — — —
D 6/(&)7nrAi mg/1 — — — —
D 8ln—~FV HHE mg/1 — — — —
FXENL |E |7 oE=THREES mg/1 < 0.05 < 0.05 < 0.05 < 0.05
E 2|HHBEER mg/1 0. 002 0. 002 0. 002 0. 002
E  3|iHERREER mg/1 0.24 0.18 0.14 0.19
E 4/ G#EZEFEON) mg/1 0.2 — 0.3 —
E 9NV NY VEREEY o mg/1 0. 005 0.012 0.017 0. 004
E 24|7mu7 ¢)la me/m’ 3 <2 3 9
HUERBRES |F 2\V@EE B 1.5 1.7 1.3 1.5
R E- N1 {#/100m1 160 — 220 —
F 6|9 R H (0-157) etk (—) — Rt (—) —
F23/iEieA 4> mg/1 10 — 11 —
s HE S 170010-5 | 170010-14 | 170010-19 | 170010-27




[t s:  Fnm
FRAAEA B SERRITHE | SERRITHE | SERRITAE | SERRI8AE
SO 107 12H 11A17H 127 19H 1A12A
BHBLR (A L ERKAIE Pty Wil Wil Wil
A 2| RME & s i i
A 3|ELKEEH B4y 11:58 11:32 14:55 11:33
A 4KAT m 1.19 1.18 1.19 1.14
A 6| BKEE m 1.21 1.15 1.20 1. 45
A TERAOKEE m 0.10 0.10 0.10 0.10
A 8IFIA C 26. 6 9.0 3.7 9.7
A 9KIR C 20.5 12.7 5.3 4.2
A 11448 gl | BEFEY | BEeFEY | EBEFEY
A 12|BK 5L 5L 5L 5L
A 13|EE cm 100 < 100 < 100 < 100 <
AVEREEE B 1|pH 7.8 7.8 7.6 7.8
OKIR:C) (23) (15) (14) (9)
B 2|DO mg/1 9.0 10 13 14
B 3|BOD mg/1 1.8 0.8 < 0.5 0.9
B 4|COD mg/1 2.1 1.8 1.7 0.9
B 5|SS mg/1 2 <1 <1 <1
B 6| KIGFERE MPN/100m1 13, 000 1, 100 330 49
B T|iREH mg/1 0. 64 0. 65 0.78 0. 50
B 8y mg/1 0.019 0.013 0. 008 0. 007
B FEC 1{HFRITA mg/1 < 0.001 — — —
cC 2/®vTv mg/1 <0.1 — — —
C 4|8 mg/1 < 0.005 — — —
C 5|6f7mL mg/1 < 0.005 — — —
C 6lt# mg/1 0. 002 0. 002 0. 001 0. 002
C  TIfIKER mg/1 < 0. 0005 — — —
C 8|7/ F/LKER mg/1 < 0. 0005 — — —
C 9|PCB mg/1 < 0. 0005 — — —
C 10|y Zoox=FL o mg/1 < 0.001 — — —
C 1|7 +IZ7vpRZF LV mg/1 < 0.001 — — —
C 12| bk mg/1 < 0. 0002 — — —
C 13|¥rumAHy mg/1 < 0.001 — — —
C l4|l-2-Yr7umn=xH mg/1 < 0.0004 — — —
C 15|1-1-1hVZmBRZH mg/1 < 0.001 — — —
C 16|1-1-2hU BT H mg/1 < 0. 0006 — — —
C 17|1-1-YZupnxFL mg/1 < 0.001 — — —
C 18| A-1-2V/mu=xFL mg/1 < 0.001 — — —
C 19|1-3-Y7mmnru~y mg/1 < 0. 0002 — — —
C 20|F 7T A mg/1 — — — —
C 21|y =2 (CAT) mg/1 — — — —
C 22|/ FAANT mg/1 — — — —
c 23| ¥r mg/1 < 0.001 — — —
cC 24leLv mg/1 < 0.002 — — —
C 25|5o% mg/1 0.1 — — —
C 26/1F9H % mg/1 < 0.1 — — —
HeAHSE (D 1|7/ —nH mg/1 < 0.05 — —
D 2|4 mg/1 — < 0.004 — —
D 3|E& mg/1 — < 0.004 — —
D 4\ IEfREER mg/1 — < 0.03 — —
D 5\fRE~ I mg/1 — < 0.005 — —
D 6/(®)7nml mg/1 — < 0.05 — —
D 8ln—~FV HHE mg/1 — < 0.5 — —
FXENL |E |7 oE=THREES mg/1 < 0.05 < 0.05 < 0.05 < 0.05
E 2|HHBEER mg/1 0. 002 0.001 0.001 0. 002
E  3|iHERREER mg/1 0.22 0.25 0. 44 0. 46
E 4/ G#EZEFEON) mg/1 — 0.4 — —
E 9NV NY VEREEY o mg/1 0. 007 0. 009 0. 006 0. 004
E 24|Zmou~>7 ()a ng/m’ 6 <2 <2 <2
HUERBRES |F 2\V@EE B 1.2 0.5 0.6 0.4
R E- N1 {#/100m1 — 250 — —
F 6 EREE (0-157) — Rt (—) — —
F23/iEieA 4> mg/1 — — — —
s HE S 170010-32 | 170010-37 | 170010-42 | 170010-45




[t s:  Fnm
PAEEH B FRk1sE | FRk1s4E
SO 2H2H 3H8H
BHBLR (A L ERKAIE Pty Wil
A 2| RME = i
A 3|ELKEEH B4y 11:37 11:50
A 4KAT m 1.16 1.28
A 6| K m 1. 00 1.25
A TERAOKEE m 0.10 0.10
A 8IFIA C 9.4 15.0
A 9KIR C 8.1 9.8
A 11448 ey | BEFEY
A 12| B&K 5L 5L
A 13|EE cm 100 < 100 <
AVEREEE B 1|pH 7.6 7.5
OKIR:C) (12) (15)
B 2|DO mg/1 12 12
B 3|BOD mg/1 < 0.5 0.7
B 4|COD mg/1 1.3 1.7
B 5|SS mg/1 <1 2
B 6| KIGHEEEK MPN/100m1 49 33
B T|iREH mg/1 0. 60 0.71
B 8y mg/1 0.013 0.014
it FlC 1|HFIUA mg/1 - -
C 2/(®>T7v mg/1 — —
C 4\%n mg/1 — —
C 5|6f7mL mg/1 — —
C 6lt# mg/1 0. 001 0. 001
C  THIKER mg/1 — -
C 8|7/ F/LkER mg/1 — —
C 9|PCB mg/1 — —
C 10|pY T L mg/1 — —
C 1|7 hT7Z7uvuxFL v mg/1 — —
C 12| iRHE mg/1 — —
C 13\¥r7muarB mg/1 — —
C l4|1:2-y7vouxH mg/1 — —
C 15|1-1-1FVZ =i mg/1 — —
C 16|1-1-2FV 7= mg/1 — —
C 17|1-1-YZupnxFL mg/1 — —
C 18| A-1-2V/mu=xFL mg/1 — —
C 19|1:3-YZ7unra~y mg/1 — —
C 20|F 7T A mg/1 — —
C 21|y =2 (CAT) mg/1 — —
C 22|/ FAANT mg/1 — —
c 23| ¥r mg/1 — —
cC 24leLv mg/1 — —
C 25|5o% mg/1 — —
C 26/1F9H % mg/1 — —
BEAKHIH] (D 1| 7=/ — NV mg/1 — —
D 2|4 mg/1 — —
D 3|E& mg/1 < 0.004 —
D 4\ IEfREER mg/1 — —
D 5B~ mg/1 — —
D 6/(&)7nrAi mg/1 — —
D 8ln—~FV HHE mg/1 — —
FXENL |E |7 oE=THREES mg/1 < 0.05 < 0.05
E 2|HHBEER mg/1 0. 002 0. 003
E  3|iHERREER mg/1 0. 50 0.56
E 4/ G#EZEFEON) mg/1 0.1 —
E 9|4 /WVKYUERREY mg/1 0. 005 0. 004
E 24|7mva>” ()la m?c\r/m3 5 6
HERERBE |F 2% B 0.5 1.3
R E- N1 fi#/100m1 5 —
F 6 EREE (0-157) Rt (—) —
F23/iEieA 4> mg/1 — —
s HE S 170010-48 | 170010-53




lgaams: B
FRAEA H| SEERLITAE | ERRITE | SERRLTE | SERRLTE
FHExtg 1A 120 2H14H 3H2H 5H26H
BB (A L EKAE e e e e
A 2| KfE £ 55 5 &
A 3EKIFH B4y 15:15 11:16 11:07 11:40
A 6|k m 0.35 0.38 0.42 0. 40
A TBRAOKEE m 0.10 0.10 0.10 0.10
A 8|&UR T 2.9 6.8 5.8 25.6
A 9[KIE C 5.7 5.2 6.0 19.5
A 11448 faEl | mesEl | EAE | RaEH
A I2|REK i 5L R R R
A 13)BHLEE cm 100 < 100 < 100 < 100 <
AEVERET B 1|pH 7.7 7.6 7.5 7.8
(KR °C) (8) (11) (11) (16)
B 2|D0 mg/1 13 13 12 10
B 3|BOD mg/1 0.7 < 0.5 1.2 0.8
B 4|coD mg/1 1.7 1.0 1.4 2.2
B 5/SS mg/1 4 <1 1 3
B 6| KIGHHEK MPN/100m1 2,400 490 490 1,100
B T|iREH mg/1 0.79 0.67 0. 69 0.72
B 8fKU mg/1 0. 053 0.018 0.018 0. 066
HiERkEREE |F 5| EWEMERGH {#/100m1 — — — —
F 6 IER I E (0-157) — — — —
AR E 160010-58 | 160010-61 | 160010-70 | 170010-2
FRAEA H| SEERLITAE | ERRLITHE | SERRLTE | SERRLTE
FHExtg 6H9H 7TH21H 8H3H 9H 26 H
BB (A KR e e e e
A 2| KfE 75 75 75 75
A 3|ERAKEEZ B4y 13:50 15:25 13:07 13:10
A 6|k m 0. 50 0.53 0.55 0.54
A TR m 0.10 0.10 0.10 0.10
A 8IEIA T 28.2 32.3 32.2 25.0
A 9PKIE C 23.0 25.7 25.7 20.5
A 11448 el | mesEl | EeEl | RaEH
A 12| BK 5L 5L 5L 5L
A 13|BLEE cm 100 < 100 < 100 < 100 <
ATEBRSE (B 1|pH 8.1 7.9 8.0 8.0
(KR °C) (14) (18) (26) (23)
B 2|D0 mg/1 9.2 8.5 8.7 10
B 3|BOD mg/1 1.2 0.7 0.6 0.8
B 4|coD mg/1 2.3 1.6 1.8 1.6
B 5/SS mg/1 2 2 2 1
B 6| KIGH#E MPN/100m1 460 11, 000 4,900 13, 000
B T|iREH mg/1 0. 47 0.51 0. 47 0. 47
B 8fY mg/1 0. 043 0. 037 0. 038 0. 021
HIEREREE |F 5| EEMERIGH {#/100m1 — — — —
F 6 R E (0-157) — — — —
PR E 170010-5 | 170010-14 | 170010-19 | 170010-27




lgaams: B
FRAEA H| SEERLITAE | ERRITHE | SERRLTEE | SERRLSE
FHExtg 1012 11717H 12J119H 1A 120
BB (A L EKAE e e e e
A 2| KfE 5] = 75 5
A 3|ERAKEEZ B4y 11:40 11:59 15:20 11:55
A 6|k m 0.46 0.43 0. 50 0.41
A TBRAOKEE m 0.10 0.10 0.10 0.10
A 8|&UR T 26.9 9.5 6.7 6.7
A 9[KIE C 21.0 11. 4 5.6 4.6
A 11448 faEl] | meaEl | EAE | EaEH
A I2|REK 5L R R R
A 13)BHLEE cm 100 < 100 < 100 < 100 <
AEIEEREE (B 1|pH 7.8 8.0 7.5 7.7
(KR °C) (23) (15) (15) (10)
B 2|D0 mg/1 9.4 11 14 14
B 3|BOD mg/1 < 0.5 < 0.5 < 0.5 < 0.5
B 4|coD mg/1 1.7 1.1 1.3 1.4
B 5/SS mg/1 1 <1 <1 <1
B 6| KIGHHEK MPN/100m1 54, 000 1, 300 330 33
B T|iREH mg/1 0.53 0.68 0. 59 0.53
B 8fKU mg/1 0. 022 0. 025 0.013 0.011
HiERkEREE |F 5| EWEMERGH {#/100m1 — — — —
F 6 ER I E (0-157) — — — —
AR E 170010-32 | 170010-37 | 170010-42 | 170010-45
AR A FRk1sE | FERk1s4E
FHExtg 2H2H 3H8H
BB (A KR e e
A 2| RME & 5
A 3|ERAKEEZ B4y 10:25 11:40
A 6K m 0. 47 0.53
A TR m 0.10 0.10
A 8IEIA T 9.4 15.0
A 9PKIE C 8.3 11.3
A 11448 fasmi] | G
A 12|BK MR i 5L
A 13|BLEE cm 100 < 100 <
AEIEEREE (B 1|pH 7.7 7.1
UKL C) (13) (15)
B 2|D0 mg/1 12 12
B 3|BOD mg/1 < 0.5 0.9
B 4|coD mg/1 1.5 1.7
B 5/SS mg/1 1 2
B 6| KGR MPN/100ml1 110 220
B 7|kEH mg/1 0.75 0.74
B 8ifY mg/1 0.017 0. 020
HIERERERE |F 5| EEMERIGH {#/100m1 — —
F 6 IER I E (0-157) — —
PR E 170010-48 | 170010-53




[t & L b
RAEFA B R THE
AR % 1A128
BB (A 1[BKRATE 9 = T
A 2| KfE 5 — —
A 3Bk B4y 10:23 10:30 10:40
A 4 KAE (BTAKRAL) m 281. 27 — —
A 6K m 56. 0 — —
A TIERAKOKEE m 0.3 28.0 55. 0
A 8/&IA C 0.5 — —
A 9PKIR C 6.8 5.5 7.1
A 115081 Bl =R Bl =R W EIE
A 12| B 5L 5L P L KER
A 14| FBRHE m 2.5 — —
A 15K 13 — —
AEVEEREE (B 1|pH 7.4 6.7 7.1
OKIR:C) (® (8) (13)
B 2|D0O mg/1 11 3.1 < 0.5
B 3|BOD mg/1 1.2 < 0.5 < 0.5
B 4|coD mg/1 2.3 1.5 8.6
B 5/SS mg/1 3 <1 2
B 6| KIGHEREEK MPN/100m1 49 49 2
B TiRER mg/1 0.52 0. 60 2.2
B 8y mg/1 0. 009 0. 006 0. 029
fidt FlC 1|FHFIUA mg/1 - — -
C 2 &®v7ryv mg/1 — — —
C 48 mg/1 — — —
C 5|67 mg/1 — — —
C 6|lt# mg/1 < 0.001 < 0.001 0. 042
C  TIakeE mg/1 — — —
C 8|7 /LF/LKEE mg/1 — — —
C 9|PCB mg/1 — — —
C 10|rYV T L mg/1 — — —
C 1|7 ro7ZuupxFLv mg/1 — — —
C 12|UEfbiRE mg/1 — — —
C 13|¥7nmuaRrB mg/1 — — —
C l4/1:2-Y/uonuxH mg/1 — — —
C 15|1:1-1FNV 7= mg/1 — — —
C 16|1-1- 2NV Zummp=H mg/1 — — —
C 17|1-1-YZ/mpnxFL mg/1 — — —
C 18| %-1-2¥V/mu=xFL mg/1 — — —
C 19/1:3-YZ7unrra~yr mg/1 — — —
C 20|F %75 A mg/1 — — —
C 21|y~ (CAT) mg/1 — — —
C 22| FARANT mg/1 — — —
C 23|y Pr mg/1 — — —
C 24lELv mg/1 — — —
C 25|5-%% mg/1 — — —
C 26195 mg/1 — — —
BEAKHH] D 1|7/ — 1V mg/1 — — —
D 2|4 mg/1 — — —
D 3|HEEH mg/1 — — —
D 4\VEfRMEER mg/1 — — —
D 5EfRME~ T mg/1 — — —
D 6/(®)r7aL mg/1 — — —
FXENL |E |7 oE=THEES mg/1 < 0.05 < 0.05 1.9
E  2|WmBEER mg/1 — — -
E  3|HMEIEER mg/1 — — —
E  4|HHEZEFE ON) mg/1 0.2 0.1 0.3
E  9A/WVbKYUERREY mg/1 < 0.003 < 0.003 < 0.003
E 24|7wvaa>” ()la m,c\rm3 — — —
HUERBRES |F 2B E 3.3 1.2 3.4
F 5|3 %RIGE {#/100m1 — - —
F  6|fsIEREH (0-157) — — —
F23/iEeA 4> mg/1 — — —
R E S 160010-58




[t & L b
RAEFA B R THE
AR % 2H14H
BB (A 1[BKRATE =)= = T
A 2| RfE B — —
A 3Bk B4y 11:05 10:57 11:10
A 4 KAE (BTAKRAL) m 282.53 — —
A 6K m 60.0 — —
A TIERAKOKEE m 0.3 30.0 59. 0
A 8/&IA C 6.7 — —
A 9PKIR C 5.2 5.0 6.7
A 11448 Bl =R Biil==Rids Bl =R
A 12| B 5L 5L P L KER
A 14| FBRHE m 3.5 — —
A 15K 14 — —
AEVEEREE (B 1|pH 7.1 7.1 7.0
OKIR:C) (15) (14) (12)
B 2|D0O mg/1 11 9.8 < 0.5
B 3|BOD mg/1 < 0.5 0.7 1.0
B 4|coD mg/1 2.2 2.1 9.4
B 5/SS mg/1 3 3 14
B 6| KIGHEREEK MPN/100m1 33 27 49
B TiRER mg/1 0. 48 0.53 2.3
B 8y mg/1 0. 007 0. 009 0. 036
fidt FlC 1|FHFIUA mg/1 - — -
C 2 &®v7ryv mg/1 — — —
C 48 mg/1 — — —
C 5|67 mg/1 — — —
C 6|lt# mg/1 < 0.001 0. 001 0. 066
C  TIakeE mg/1 — — —
C 8|7 /LF/LKEE mg/1 — — —
C 9|PCB mg/1 — — —
C 10|rYV T L mg/1 — — —
C 1|7 ro7ZuupxFLv mg/1 — — —
C 12|UEfbiRE mg/1 — — —
C 13|¥7nmuaRrB mg/1 — — —
C l4/1:2-Y/uonuxH mg/1 — — —
C 15|1:1-1FNV 7= mg/1 — — —
C 16|1-1- 2NV Zummp=H mg/1 — — —
C 17|1-1-YZ/mpnxFL mg/1 — — —
C 18| %-1-2¥V/mu=xFL mg/1 — — —
C 19/1:3-YZ7unrra~yr mg/1 — — —
C 20|F %75 A mg/1 — — —
C 21|y~ (CAT) mg/1 — — —
C 22| FARANT mg/1 — — —
C 23|y Pr mg/1 — — —
C 24lELv mg/1 — — —
C 25|5-%% mg/1 — — —
C 26195 mg/1 — — —
BEAKHH] D 1|7/ — 1V mg/1 — — —
D 2|4 mg/1 — — —
D 3|H4 mg/1 < 0.004 0.011 0. 009
D 4\VEfRMEER mg/1 — — —
D 5EfRME~ T mg/1 — — —
D 6/(®)r7aL mg/1 — — —
FXENL |E |7 oE=THEES mg/1 < 0.05 < 0.05 2.2
E  2|WmBEER mg/1 0.001 0. 002 0. 006
E  3|iHERREER mg/1 0.31 0.31 < 0.02
E  4|HHEZEFE ON) mg/1 0.2 0.2 0.1
E  9A/WVbKYUERREY mg/1 < 0.003 < 0.003 < 0.003
E 24|Z7nou~>7 ()a me/m’ 15 9 <9
HUERBRES |F 2B E 3.5 3.6 9.7
F 5|3 RIGE {#/100m1 0 0 0
F  6|fsIEREH (0-157) et (—) faft (—) Rk (—)
F23/iEeA 4> mg/1 — — —
R E S 160010-61




[t & L b
RAEFA B R TAE
SO 3H2H
BB (A 1[BKRATE =)= = T
A 2| K E — —
A 3Bk B4y 10:37 10:40 10:45
A 4 KAE (BTAKRAL) m 281. 88 — —
A 6K m 59.0 — —
A TIERAKOKEE m 0.3 29.5 58. 0
A 8/&IA C 5.6 — —
A 9|/KIR C 6.0 5.1 7.0
A 115081 Bl =R Biil==Rids Bl =R
A 12| B 5L 5L P L KER
A 14| FBRHE m 2.0 — —
A 15K 15 — —
AEVEEREE (B 1|pH 7.8 7.0 7.0
OKIR:C) (12) (11 (12)
B 2|D0O mg/1 13 9.4 < 0.5
B 3|BOD mg/1 1.0 < 0.5 0.7
B 4|coD mg/1 2.8 2.1 8.9
B 5/SS mg/1 5 3 10
B 6| KIGHEREEK MPN/100m1 2 7 2
B TiRER mg/1 0.61 0. 65 2.4
B 8y mg/1 0.012 0. 008 0.012
fidt FlC 1|FHFIUA mg/1 - — -
C 2 &®v7ryv mg/1 — — —
C 48 mg/1 — — —
C 5|67 mg/1 — — —
C 6|lt# mg/1 < 0.001 < 0.001 0. 054
C  TIakeE mg/1 — — —
C 8|7 /LF/LKEE mg/1 — — —
C 9|PCB mg/1 — — —
C 10|rYV T L mg/1 — — —
C 1|7 ro7ZuupxFLv mg/1 — — —
C 12|UEfbiRE mg/1 — — —
C 13|¥7nmuaRrB mg/1 — — —
C l4/1:2-Y/uonuxH mg/1 — — —
C 15|1:1-1FNV 7= mg/1 — — —
C 16|1-1- 2NV Zummp=H mg/1 — — —
C 17|1-1-¥Z7woao=xFL v mg/1 — — —
C 18| %-1-2¥V/mu=xFL mg/1 — — —
C 19/1:3-YZ7unrra~yr mg/1 — — —
C 20|F %75 A mg/1 — — —
C 21|y~ (CAT) mg/1 — — —
C 22| FARANT mg/1 — — —
C 23|y Pr mg/1 — — —
C 24lELv mg/1 — — —
C 25|5-%% mg/1 — — —
C 26195 mg/1 — — —
BEAKHH] D 1|7/ — 1V mg/1 — — —
D 2|4 mg/1 — — —
D 3|HEEH mg/1 — — —
D 4\VEfRMEER mg/1 — — —
D 5EfRME~ T mg/1 — — —
D 6/(®)r7aL mg/1 — — —
FXENL |E |7 oE=THEES mg/1 < 0.05 0. 10 2.4
E  2|WmBEER mg/1 — — —
E  3|HMEIEER mg/1 — —
E  4|HHEZEFE ON) mg/1 0.3 0.2 < 0.1
E  9A/WVbKYUERREY mg/1 < 0.003 < 0.003 < 0.003
E 24|7wvaa>” ()la m,c\rm3 — —
HUERBRES |F 2B E 4.6 2.9 6.5
F 5|3 RIGE fi&/100m1 — — —
F  6|fsIEREH (0-157) — — —
F23/iEeA 4> mg/1 — — —
R E S 160010-70




[t & L b
RAEFA B R TAE
AR % bH26H
BB (A 1[BKRATE =)= = T
A 2| RfE H — —
A 3Bk B4y 10:40 10:50 11:00
A 4 KAE (BTAKRAL) m 286. 76 — —
A 6K m 61.5 — —
A TIERAKOKEE m 0.3 30. 7 60. 0
A 8/&IA C 26. 1 — —
A 9|/KIR C 18.8 7.3 8.6
A 115081 Bl =R Biil==Rids W EIE
A 12| BR 5L 5L SR b KFER
A 14| FBRHE m 3.5 — —
A 15K 12 — —
AEVEEREE (B 1|pH 7.9 7.0 6.9
OKIR:C) (22) (21 (20)
B 2|D0O mg/1 9.5 7.3 < 0.5
B 3|BOD mg/1 0.9 1.1 1.6
B 4|coD mg/1 1.8 1.4 10
B 5/SS mg/1 <1 1 4
B 6| KIGHEREEK MPN/100m1 0 0 0
B TiRER mg/1 0. 42 0. 65 2.5
B 8y mg/1 0. 009 0. 007 0. 049
fidt FlC 1|FHFIUA mg/1 - — -
C 2 &®v7ryv mg/1 — — —
C 48 mg/1 — — —
C 5|67 mg/1 — — —
C 6|lt# mg/1 0. 002 0. 002 0. 063
C  TIakeE mg/1 — — —
C 8|7 /LF/LKEE mg/1 — — —
C 9|PCB mg/1 — — —
C 10|rYV T L mg/1 — — —
C 1|7 ro7ZuupxFLv mg/1 — — —
C 12|UEfbiRE mg/1 — — —
C 13|¥7nmuaRrB mg/1 — — —
C l4/1:2-Y/uonuxH mg/1 — — —
C 15|1:1-1FNV 7= mg/1 — — —
C 16|1-1- 2NV Zummp=H mg/1 — — —
C 17|1-1-¥Z7woao=xFL v mg/1 — — —
C 18| %-1-2¥V/mu=xFL mg/1 — — —
C 19/1:3-YZ7unrra~yr mg/1 — — —
C 20|F %75 A mg/1 — — —
C 21|y~ (CAT) mg/1 — — —
C 22| FARANT mg/1 — — —
C 23|y Pr mg/1 — — —
C 24lELv mg/1 — — —
C 25|5-%% mg/1 — — —
C 26195 mg/1 — — —
BEAKHH] D 1|7/ — 1V mg/1 — — —
D 2|4 mg/1 — — —
D 3|HEEH mg/1 — — —
D 4\VEfRMEER mg/1 — — —
D 5EfRME~ T mg/1 — — —
D 6/(®)r7aL mg/1 — — —
FXENL |E |7 oE=THEES mg/1 < 0.05 0. 09 2.1
E  2|WmBEER mg/1 — — -
E  3|HMEIEER mg/1 — — —
E  4|HHEZEFE ON) mg/1 0.2 0.1 0.3
E  9A/WVbKYUERREY mg/1 < 0.003 < 0.003 0. 024
E 24|7wvaa>” ()la m,c\rm3 — — —
HUERBRES |F 2B E 0.3 0.7 1.0
F 5|3 RIGE {#/100m1 — — —
F  6|fsIEREH (0-157) — — —
F23/iEeA 4> mg/1 — — —
R E S 170010-2




[t & L b
RAEFA B R TAE
SO 6H9H
BB (A 1[BKRATE =)= = T
A 2| RfE B — —
A 3Bk B4y 11:05 11:25 11:58
A 4 KAE (BTAKRAL) m 285. 16 — —
A 6K m 60.0 — —
A TIERAKOKEE m 0.3 30.0 59. 0
A 8/&IA C 29.0 — —
A 9|/KIR C 22.4 5.4 7.0
A 115081 Bl =R Biil==Rids W EIE
A 12| B 5L R SR b KFER
A 14| m 3.5 — —
A 15K 11 — —
AEVEEREE (B 1|pH 8.6 6.7 6.8
OKIR:C) (16) (17) (15)
B 2|D0O mg/1 9.6 7.1 < 0.5
B 3|BOD mg/1 1.4 < 0.5 2.3
B 4|coD mg/1 2.2 3.2 8.5
B 5/SS mg/1 1 <1 7
B 6| KIGHEREEK MPN/100m1 4 0 0
B TiRER mg/1 0. 40 0.59 2.2
B 8l#U v mg/1 0.010 0. 008 0. 042
{7 BEIC 1A FRITL mg/1 < 0.001 < 0.001 < 0.001
cC 2/®y7ry mg/1 < 0.1 < 0.1 < 0.1
C 48 mg/1 < 0.005 < 0.005 < 0.005
C 5|67 mg/1 < 0.005 < 0.005 < 0.005
C 6|lt# mg/1 0. 001 < 0.001 0. 056
C  7|fAKER mg/1 < 0. 0005 < 0. 0005 < 0. 0005
C 8|7 AFkEE mg/1 < 0. 0005 < 0. 0005 < 0. 0005
C 9|PCB mg/1 < 0. 0005 < 0. 0005 < 0. 0005
C 10|rYZoo=FlL v mg/1 < 0.001 < 0.001 < 0.001
C N|FrIZ7ppFL v mg/1 < 0.001 < 0.001 < 0.001
C 12|VuHEfkiRH mg/1 < 0.0002 < 0.0002 < 0.0002
C 13|¥Z7muRrBy mg/1 < 0.001 < 0.001 < 0.001
C 14|1-2-Y7uono=x® mg/1 < 0. 0004 < 0. 0004 < 0. 0004
C 15|1-1-1pVZmBEZH mg/1 < 0.001 < 0.001 < 0.001
C 16/1-1-2hV BT H mg/1 < 0. 0006 < 0. 0006 < 0. 0006
C 171-1-¥ZaouaxFL v mg/1 < 0.001 < 0.001 < 0.001
C 18| %-1-2¥V/mu=xFL mg/1 < 0.001 < 0.001 < 0.001
C 19|1-3-Y7umrmra~ mg/1 < 0. 0002 < 0. 0002 < 0. 0002
C 20/F7F L mg/1 < 0. 0006 < 0. 0006 < 0. 0006
C 21|y~ (CAT) mg/1 < 0.0003 < 0.0003 < 0.0003
C 2)FF T mg/1 < 0.001 < 0.001 < 0.001
C 23|y Pr mg/1 < 0.001 < 0.001 < 0.001
C 24|&LV mg/1 < 0.002 < 0.002 < 0.002
C 25|53 mg/1 < 0.1 < 0.1 < 0.1
C 26195 mg/1 < 0.1 < 0.1 < 0.1
BEAKHH] D 1|7/ — 1V mg/1 — — —
D 2|8 mg/1 — — —
D 3|H4H mg/1 < 0.004 0. 008 0. 005
D 4\VEfRMEER mg/1 — — —
D 5EfRME~ T mg/1 — — —
D 6/(®)r7aL mg/1 — — —
FXENL |E |7 oE=THEES mg/1 < 0.05 < 0.05 2.1
E  2|WmBEER mg/1 0. 004 < 0.001 0. 005
E  3|iHERREER mg/1 0. 20 0. 49 < 0.02
E  4|HHEZEFE ON) mg/1 0.2 0.1 0.1
E  9A/WVbKYUERREY mg/1 < 0.003 < 0.003 0. 007
E 24/7nmna7 ()la mg/m° <2 <9 <9
HUERBRES |F 2B E 1.4 1.1 7.2
F 5|3 RIGE {#/100m1 2 0 1
F  6|fsIEREH (0-157) et (—) faft (—) Rk (—)
F23/iEeA 4> mg/1 10 13 12
R E S 170010-5




[t & L b
RAEFA B R TAE
AR % TH21H
BB (A 1[BKRATE =)= = T
A 2| RfE B — —
A 3Bk B4y 10:43 11:00 11:13
A 4 KAE (BTAKRAL) m 286. 92 — —
A 6K m 64.0 — —
A TIERAKOKEE m 0.3 32.0 63.0
A 8/&IA C 30.0 — —
A 9PKIR C 26. 1 9.2 9.3
A 11448 Bl =R Biil==Rids Bl =R
A 12| BR R 5L SR b KFER
A 14| FBRHE m 3.0 — —
A 15K 11 — —
AEVEEREE (B 1|pH 9.1 8.4 6.7
OKIR:C) (17) (20) (25)
B 2|D0O mg/1 9.4 6.3 < 0.5
B 3|BOD mg/1 1.3 1.0 1.2
B 4|COD mg/1 2.2 1.5 8.2
B 5|SS mg/1 <1 <1 33
B 6| KIGERE MPN/100ml1 7,900 240 79
B TiRER mg/1 0.51 0.63 2.5
B 8y mg/1 0.017 0. 006 0. 061
fidt FlC 1|FHFIUA mg/1 - — -
C 2 &®v7ryv mg/1 — — —
C 4|8 mg/1 — — —
C 5|67 mg/1 — — —
C 6|lt# mg/1 0. 002 < 0.001 0. 059
C  TIakeE mg/1 — — —
C 8|7 /LF/LKEE mg/1 — — —
C 9|PCB mg/1 — — —
C 10|rYV T L mg/1 — — —
C 1|7 ro7ZuupxFLv mg/1 — — —
C 12|UEfbiRE mg/1 — — —
C 13|¥7nmuaRrB mg/1 — — —
C l4/1:2-Y/uonuxH mg/1 — — —
C 15|1:1-1FNV 7= mg/1 — — —
C 16|1-1- 2NV Zummp=H mg/1 — — —
C 17|1-1-YZ/mpnxFL mg/1 — — —
C 18| %-1-2¥V/mu=xFL mg/1 — — —
C 19/1:3-YZ7unrra~yr mg/1 — — —
C 20|F %75 A mg/1 — — —
C 21|y~ (CAT) mg/1 — — —
C 22| FARANT mg/1 — — —
c 23| ¥ mg/1 — — —
C 24lELv mg/1 — — —
C 25|5-%% mg/1 — — —
C 26195 mg/1 — — —
BEAKHH] D 1|7/ — 1V mg/1 — — —
D 2|4 mg/1 — — —
D 3|HEEH mg/1 — — —
D 4\VEfRMEER mg/1 — — —
D 5EfRME~ T mg/1 — — —
D 6/(®)r7aL mg/1 — — —
FXENL |E |7 oE=THEES mg/1 < 0.05 < 0.05 1.9
E  2|WmBEER mg/1 — — -
E  3|HMEIEER mg/1 — — —
E  4|HHEZEFE ON) mg/1 0.4 0.4 0.2
E 9N NY VEREEY o mg/1 < 0.003 0. 003 0.017
E 24|7wvaa>” ()la m,c\rm3 — — —
HUERBRES |F 2B E 1.2 5.4 36
F 5|3 RIGE {#/100m1 — — —
F  6|fsIEREH (0-157) — — —
F23/iEeA 4> mg/1 — — —
R E S 170010-14




[t & L b
RAEFA B R TAE
SO 8H3H
BB (A 1[BKRATE =)= = T
A 2| RfE B — —
A 3Bk B4y 11:00 11:10 11:20
A 4 KAE (BTAKRAL) m 286. 77 — —
A 6K m 61.0 — —
A TIERAKOKEE m 0.3 30.0 60. 0
A 8/&IA C 30.2 — —
A 9|/KIR C 24.2 5.4 7.1
A 115081 Bl =R Biil==Rids W EIE
A 12| BR 5L 5L SR b KFER
A 14| FBRHE m 3.0 — —
A 15K 11 — —
AEVEEREE (B 1|pH 8.9 6.8 6.7
OKIR:C) (25) (23) (24)
B 2|D0O mg/1 11 5.5 < 0.5
B 3|BOD mg/1 1.3 0.8 1.5
B 4|coD mg/1 2.5 1.8 8.4
B 5/SS mg/1 2 <1 24
B 6| KIGERE MPN/100ml1 2,100 79 79
B TiRER mg/1 0. 54 0. 68 3.6
B 8y mg/1 0.018 0. 004 0.079
fidt FlC 1|FHFIUA mg/1 - — -
C 2 &®v7ryv mg/1 — — —
C 48 mg/1 — — —
C 5|67 mg/1 — — —
C 6|lt# mg/1 0. 001 < 0.001 0. 065
C  TIakeE mg/1 — — —
C 8|7 /LF/LKEE mg/1 — — —
C 9|PCB mg/1 — — —
C 10|rYV T L mg/1 — — —
C 1|7 ro7ZuupxFLv mg/1 — — —
C 12|UEfbiRE mg/1 — — —
C 13|¥7nmuaRrB mg/1 — — —
C l4/1:2-Y/uonuxH mg/1 — — —
C 15|1:1-1FNV 7= mg/1 — — —
C 16|1-1- 2NV Zummp=H mg/1 — — —
C 17|1-1-¥Z7woao=xFL v mg/1 — — —
C 18| %-1-2¥V/mu=xFL mg/1 — — —
C 19/1:3-YZ7unrra~yr mg/1 — — —
C 20|F %75 A mg/1 < 0. 0006 < 0. 0006 < 0. 0006
C 21|y~ (CAT) mg/1 < 0.0003 < 0.0003 < 0.0003
C 2)FF T mg/1 < 0.001 < 0.001 < 0.001
C 23|y Pr mg/1 — — —
C 24lELv mg/1 — — —
C 25|5-%% mg/1 — — —
C 26195 mg/1 — — —
BEAKHH] D 1|7/ — 1V mg/1 — — —
D 2|4 mg/1 — — —
D 3|H4 mg/1 < 0.004 0. 007 0. 009
D 4\VEfRMEER mg/1 — — —
D 5EfRME~ T mg/1 — — —
D 6/(®)r7aL mg/1 — — —
FXENL |E |7 oE=THEES mg/1 < 0.05 < 0.05 2.2
E  2|WmBEER mg/1 0.003 0. 002 0. 005
E  3|iHERREER mg/1 0.11 0.23 < 0.02
E  4|HHEZEFE ON) mg/1 0.4 0.4 1.4
E  9A/WVbKYUERREY mg/1 < 0.003 < 0.003 0. 008
E 24|Z7nou~>7 ()a me/m’ 5 <9 <9
HUERBRES |F 2B E 2.0 1.0 27
F 5|3 RIGE {#/100m1 1 2 3
F  6|fsIEREH (0-157) faft: (—) faft (—) Rk (—)
F23/iEeA 4> mg/1 8.6 12 12
R E S 170010-19




[t & L b
RAEFA B R TAE
AR % SH26H
BB (A 1[BKRATE =)= = T
A 2| RfE H — —
A 3Bk B4y 10:15 10:20 10:30
A 4 KAE (BTAKRAL) m 286. 79 — —
A 6K m 64.0 — —
A TIERAKOKEE m 0.3 32.0 63.0
A 8/&IA C 25. 4 — —
A 9|/KIR C 20. 6 5.7 9.3
A 115081 Bl =R Biil==Rids Bl =R
A 12| B 5L 5L i 5L
A 14| FBRHE m 1.5 — —
A 15K 9 — —
AEVEEREE (B 1|pH 9.5 6.6 6.9
OKIR:C) (21) (19) (20)
B 2|D0O mg/1 10 5.0 < 0.5
B 3|BOD mg/1 2.3 1.3 1.6
B 4|coD mg/1 5.8 1.8 8.3
B 5/SS mg/1 6 <1 10
B 6| KIGERE MPN/100ml1 330 3, 500 540
B TiRER mg/1 0.97 0.79 3.2
B 8y mg/1 0. 028 0. 006 0. 061
fidt FlC 1|FHFIUA mg/1 - — -
C 2 &®v7ryv mg/1 — — —
C 48 mg/1 — — —
C 5|67 mg/1 — — —
C 6|lt# mg/1 0. 001 < 0.001 0. 051
C  TIakeE mg/1 — — —
C 8|7 /LF/LKEE mg/1 — — —
C 9|PCB mg/1 — — —
C 10|rYV T L mg/1 — — —
C 1|7 ro7ZuupxFLv mg/1 — — —
C 12|UEfbiRE mg/1 — — —
C 13|¥7nmuaRrB mg/1 — — —
C l4/1:2-Y/uonuxH mg/1 — — —
C 15|1:1-1FNV 7= mg/1 — — —
C 16|1-1- 2NV Zummp=H mg/1 — — —
C 17|1-1-¥Z7woao=xFL v mg/1 — — —
C 18| %-1-2¥V/mu=xFL mg/1 — — —
C 19/1:3-YZ7unrra~yr mg/1 — — —
C 20|F %75 A mg/1 — — —
C 21|y~ (CAT) mg/1 — — —
C 22| FARANT mg/1 — — —
C 23|y Pr mg/1 — — —
C 24lELv mg/1 — — —
C 25|5-%% mg/1 — — —
C 26195 mg/1 — — —
BEAKHH] D 1|7/ — 1V mg/1 — — —
D 2|4 mg/1 — — —
D 3|HEEH mg/1 — — —
D 4\VEfRMEER mg/1 — — —
D 5EfRME~ T mg/1 — — —
D 6/(®)r7aL mg/1 — — —
FXENL |E |7 oE=THEES mg/1 < 0.05 0. 08 2.8
E  2|WmBEER mg/1 — — -
E  3|HMEIEER mg/1 — — —
E  4|HHEZEFE ON) mg/1 0.7 0.5 0.4
E  9A/WVbKYUERREY mg/1 < 0.003 0. 003 < 0.003
E 24|7wvaa>” ()la m,c\rm3 — — —
HUERBRES |F 2B E 4.9 1.1 7.9
F 5|3 RIGE {#/100m1 — — —
F  6|fsIEREH (0-157) — — —
F23/iEeA 4> mg/1 — — —
R E S 170010-27




[t & L b
HAEEH A R TAE
SO 107 12H
BB (A 1[BKRATE =)= = T
A 2| RfE B — —
A 3Bk B4y 10:05 10:07 10:10
A 4 KAE (BTAKRAL) m 286. 54 — —
A 6K m 64.0 — —
A TIERAKOKEE m 0.3 32.0 63.0
A 8/&IA C 24.0 — —
A 9|/KIR C 23.3 5.8 7.0
A 115081 Bl =R Biil==Rids W EIE
A 12| B 5L R SR b KFER
A 14| m 1.5 — —
A 15K 8 — —
AEVEEREE (B 1|pH 10 6.7 6.8
OKIR:C) (22) (20) (21
B 2|D0O mg/1 11 5.5 < 0.5
B 3|BOD mg/1 1.4 < 0.5 1.4
B 4|coD mg/1 5.9 1.3 8.7
B 5/SS mg/1 7 <1 16
B 6| KIGERE MPN/100ml1 17 790 49
B T#ESR mg/1 0.62 0.58 3.2
B 8l#U v mg/1 0.016 0. 004 0. 062
{7 BEIC 1A FRITL mg/1 < 0.001 < 0.001 < 0.001
cC 2/®y7ry mg/1 < 0.1 < 0.1 < 0.1
C 48 mg/1 < 0.005 < 0.005 < 0.005
C 5|67 mg/1 < 0.005 < 0.005 < 0.005
C 6|lt# mg/1 0. 001 < 0.001 0. 052
C  7|fAKER mg/1 < 0. 0005 < 0. 0005 < 0. 0005
C 8|7 AFkEE mg/1 < 0. 0005 < 0. 0005 < 0. 0005
C 9|PCB mg/1 < 0. 0005 < 0. 0005 < 0. 0005
C 10|rYZoo=FlL v mg/1 < 0.001 < 0.001 < 0.001
C N|FrIZ7ppFL v mg/1 < 0.001 < 0.001 < 0.001
C 12|VuHEfkiRH mg/1 < 0.0002 < 0.0002 < 0.0002
C 13|¥Z7muRrBy mg/1 < 0.001 < 0.001 < 0.001
C 14|1-2-Y7uono=x® mg/1 < 0. 0004 < 0. 0004 < 0. 0004
C 15|1-1-1pVZmBEZH mg/1 < 0.001 < 0.001 < 0.001
C 16/1-1-2hV BT H mg/1 < 0. 0006 < 0. 0006 < 0. 0006
C 171-1-¥ZaouaxFL v mg/1 < 0.001 < 0.001 < 0.001
C 18| %-1-2¥V/mu=xFL mg/1 < 0.001 < 0.001 < 0.001
C 19|1-3-Y7umrmra~ mg/1 < 0. 0002 < 0. 0002 < 0. 0002
C 20/F7F L mg/1 — — —
C 21|y~ (CAT) mg/1 — — —
C 22| FARANT mg/1 — — —
C 23|y Pr mg/1 < 0.001 < 0.001 < 0.001
C 24|&LV mg/1 < 0.002 < 0.002 < 0.002
C 25|53 mg/1 < 0.1 < 0.1 0.1
C 26195 mg/1 < 0.1 < 0.1 < 0.1
Hk#E (D 1|7/ — 08 mg/1 — — —
D 2|4 mg/1 — — —
D  3|#gh mg/1 — — —
D 4\IEfREER mg/1 — — —
D 5\fRE~ T mg/1 — — —
D 6/() i mg/1 — — —
FXENL |E |7 oE=THEES mg/1 < 0.05 < 0.05 1.9
E  2|WmBEER mg/1 — — -
E  3|HMEIEER mg/1 — — —
E  4|HHEZEFE ON) mg/1 0.5 0.3 1.3
E 9|4V RY ERBEY o mg/1 0. 005 < 0.003 0. 021
E 24|7wvaa>” ()la m,c\rm3 — — —
HUERBRES |F 2B E 3.7 0.4 11
F 5|3 RIGE {#/100m1 — — —
F  6|fsIEREH (0-157) — — —
F23/iEeA 4> mg/1 — — —
R E S 170010-32




[t & L b
RAEFA B R THE
SO 11H17H
BB (A 1[BKRATE =)= = T
A 2| K E — —
A 3Bk B4y 10:20 10:25 10:30
A 4 KAE (BTAKRAL) m 286. 07 — —
A 6K m 64.0 — —
A TIERAKOKEE m 0.3 32.0 63.0
A 8/&IA C 12.5 — —
A 9PKIR C 14.0 6.0 7.5
A 11448 Bl =R Biil==Rids W EIE
A 12| B 5L 5L P L KER
A 14| FBRHE m 2.5 — —
A 15K 9 — —
AVEREEE B 1|pH 7.2 6.7 6.9
OKIR:C) (13) (13) (13)
B 2|D0O mg/1 9.1 2.5 0.7
B 3|BOD mg/1 < 0.5 0.6 0.7
B 4|COD mg/1 2.9 1.6 8.7
B 5|SS mg/1 2 <1 21
B 6| KIGHEREEK MPN/100m1 79 7 17
B TiRER mg/1 0.74 0.61 2.7
B 8y mg/1 0. 007 0. 008 0. 045
fidt FlC 1|FHFIUA mg/1 - — -
C 2 &®v7ryv mg/1 — — —
C 4|8 mg/1 — — —
C 5|67 mg/1 — — —
C 6|lt# mg/1 0. 002 0. 001 0.073
C  TIakeE mg/1 — — —
C 8|7 /LF/LKEE mg/1 — — —
C 9|PCB mg/1 — — —
C 10|rYV T L mg/1 — — —
C 1|7 ro7ZuupxFLv mg/1 — — —
C 12|UEfbiRE mg/1 — — —
C 13|¥7nmuaRrB mg/1 — — —
C l4/1:2-Y/uonuxH mg/1 — — —
C 15|1:1-1FNV 7= mg/1 — — —
C 16|1-1- 2NV Zummp=H mg/1 — — —
C 17|1-1-YZ/mpnxFL mg/1 — — —
C 18| %-1-2¥V/mu=xFL mg/1 — — —
C 19/1:3-YZ7unrra~yr mg/1 — — —
C 20|F %75 A mg/1 — — —
C 21|y~ (CAT) mg/1 — — —
C 22| FARANT mg/1 — — —
c 23| ¥ mg/1 — — —
C 24lELv mg/1 — — —
C 25|5-%% mg/1 — — —
C 26195 mg/1 — — —
HeAHSH (D 1|7/ —nHH mg/1 < 0.05 < 0.05 < 0.05
D 2|4 mg/1 < 0.004 < 0.004 < 0.004
D 3|H4 mg/1 < 0.004 0.010 0. 009
D 4\IEfREER mg/1 < 0.03 < 0.03 12
D 5I¥EfRME~ T mg/1 < 0.005 0. 044 9.4
D 6/() i mg/1 < 0.05 < 0.05 < 0.05
FXENL |E |7 oE=THEES mg/1 < 0.05 < 0.05 2.1
E  2|WmBEER mg/1 0. 002 < 0.001 0. 002
E  3|iHERREER mg/1 0.24 0.24 0.06
E  4|HHEZEFE ON) mg/1 0.5 0.4 0.5
E  9A/WVbKYUERREY mg/1 < 0.003 < 0.003 < 0.003
E 24/7nmna7 ()la mg/m° 11 <2 <2
HUERBRES |F 2B E 1.6 0.7 11
F 5|3 RIGE {#/100m1 2 0 0
F  6|fsIEREH (0-157) et (—) faft (—) Rk (—)
F23/iEeA 4> mg/1 — — —
R E S 170010-37




[t & L b
RAEFA B R TAE
SO 127 19H
BB (A 1[BKRATE =)= = T
A 2| RfE H — —
A 3Bk B4y 14:10 14:20 14:30
A 4 KAE (BTAKRAL) m 283. 10 — —
A 6K m 59.0 — —
A TIERAKOKEE m 0.3 29.5 53.0
A 8/&IA C 5.0 — —
A 9|/KIR C 6.4 5.8 7.2
A 115081 Bl =R Biil==Rids W EIE
A 12| B 5L 5L P L KER
A 14| FBRHE m 3.5 — —
A 15K 9 — —
AEVEEREE (B 1|pH 6.9 6.7 6.9
OKIR:C) (13) (13) (13)
B 2|D0O mg/1 7.4 2.0 < 0.5
B 3|BOD mg/1 < 0.5 < 0.5 < 0.5
B 4|coD mg/1 1.5 1.7 10
B 5/SS mg/1 1 1 23
B 6| KIGHEREEK MPN/100m1 49 7 17
B TiRER mg/1 0.63 0.67 3.1
B 8y mg/1 0. 003 0. 004 0. 088
fidt FlC 1|FHFIUA mg/1 - — -
C 2 &®v7ryv mg/1 — — —
C 48 mg/1 — — —
C 5|67 mg/1 — — —
C 6|lt# mg/1 0. 001 < 0.001 0.073
C  TIakeE mg/1 — — —
C 8|7 /LF/LKEE mg/1 — — —
C 9|PCB mg/1 — — —
C 10|rYV T L mg/1 — — —
C 1|7 ro7ZuupxFLv mg/1 — — —
C 12|UEfbiRE mg/1 — — —
C 13|¥7nmuaRrB mg/1 — — —
C l4/1:2-Y/uonuxH mg/1 — — —
C 15|1:1-1FNV 7= mg/1 — — —
C 16|1-1- 2NV Zummp=H mg/1 — — —
C 17|1-1-¥Z7woao=xFL v mg/1 — — —
C 18| %-1-2¥V/mu=xFL mg/1 — — —
C 19/1:3-YZ7unrra~yr mg/1 — — —
C 20|F %75 A mg/1 — — —
C 21|y~ (CAT) mg/1 — — —
C 22| FARANT mg/1 — — —
C 23|y Pr mg/1 — — —
C 24lELv mg/1 — — —
C 25|5-%% mg/1 — — —
C 26195 mg/1 — — —
BEAKHH] D 1|7/ — 1V mg/1 — — —
D 2|4 mg/1 — — —
D 3|HEEH mg/1 — — —
D 4\VEfRMEER mg/1 — — —
D 5EfRME~ T mg/1 — — —
D 6/(®)r7aL mg/1 — — —
FXENL |E |7 oE=THEES mg/1 < 0.05 < 0.05 2.6
E  2|WmBEER mg/1 — — -
E  3|HMEIEER mg/1 — — —
E 4| G#EZEFE (ON) mg/1 0.2 0.2 0.5
E  9A/WVbKYUERREY mg/1 < 0.003 < 0.003 0. 025
E 24|7wvaa>” ()la m,c\rm3 — — —
HUERBRES |F 2B E 1.0 1.1 17
F 5|3 RIGE fi&/100m1 — — —
F  6|fsIEREH (0-157) — — —
F 231 4 mg/1 — — —
R E S 170010-42




[t & L b
RAEFA B Rk 184
AR % 17128
BB (A 1[BKRATE =)= = T
A 2| RfE H — —
A 3Bk B4y 10:50 11:00 11:15
A 4 KAE (BTAKRAL) m 282. 84 — —
A 6K m 60.0 — —
A TIERAKOKEE m 0.3 30.0 59. 0
A 8/&IA C 6.0 — —
A 9PKIR C 5.2 5.0 7.4
A 11448 Bl =R Biil==Rids W EIE
A 12| BR 5L 5L SR b KFER
A 14| FBRHE m 4.5 — —
A 15K 12 — —
AVEREEE B 1|pH 7.0 7.0 7.1
OKIR:C) (9) (10) (10)
B 2|D0O mg/1 7.7 8.9 < 0.5
B 3|BOD mg/1 < 0.5 1.2 1.9
B 4|COD mg/1 1.3 2.1 10
B 5|SS mg/1 <1 2 7
B 6| KIGHEREEK MPN/100m1 0 2 4
B TiRER mg/1 0. 55 0. 64 2.6
B 8y mg/1 0. 005 0. 008 0. 033
fidt FlC 1|FHFIUA mg/1 - — -
C 2 &®v7ryv mg/1 — — —
C 4|8 mg/1 — — —
C 5|67 mg/1 — — —
C 6|lt# mg/1 0. 001 0. 001 0. 057
C  TIakeE mg/1 — — —
C 8|7 /LF/LKEE mg/1 — — —
C 9|PCB mg/1 — — —
C 10|rYV T L mg/1 — — —
C 1|7 ro7ZuupxFLv mg/1 — — —
C 12|UEfbiRE mg/1 — — —
C 13|¥7nmuaRrB mg/1 — — —
C l4/1:2-Y/uonuxH mg/1 — — —
C 15|1:1-1FNV 7= mg/1 — — —
C 16|1-1- 2NV Zummp=H mg/1 — — —
C 17|1-1-YZ/mpnxFL mg/1 — — —
C 18| %-1-2¥V/mu=xFL mg/1 — — —
C 19/1:3-YZ7unrra~yr mg/1 — — —
C 20|F %75 A mg/1 — — —
C 21|y~ (CAT) mg/1 — — —
C 22| FARANT mg/1 — — —
c 23| ¥ mg/1 — — —
C 24lELv mg/1 — — —
C 25|5-%% mg/1 — — —
C 26195 mg/1 — — —
BEAKHH] D 1|7/ — 1V mg/1 — — —
D 2|4 mg/1 — — —
D 3|HEEH mg/1 — — —
D 4\VEfRMEER mg/1 — — —
D 5EfRME~ T mg/1 — — —
D 6/(®)r7aL mg/1 — — —
FXENL |E |7 oE=THEES mg/1 0. 06 0. 09 1.3
E  2|WmBEER mg/1 — — -
E  3|HMEIEER mg/1 — — —
E 4| G#EZEFE (ON) mg/1 < 0.1 0.1 1.3
E  9A/WVbKYUERREY mg/1 < 0.003 < 0.003 0. 029
E 24|7wvaa>” ()la m,c\rm3 — — —
HUERBRES |F 2B E 1.1 1.7 5.3
F 5|3 RIGE fi&/100m1 — — —
F  6|fsIEREH (0-157) — — —
F23/iEeA 4> mg/1 — — —
R E S 170010-45




[t & L b
RAEFA B TRk 184
SO 2H2H
BB (A 1[BKRATE =)= = T
A 2| RfE H — —
A 3Bk B4y 11:00 11:20 11:40
A 4 KAE (BTAKRAL) m 284. 07 — —
A 6K m 60.0 — —
A TIERAKOKEE m 0.3 30.0 59. 0
A 8/&IA C 9.5 — —
A 9PKIR C 6.0 5.0 7.4
A 115081 Bl =R Biil==Rids W EIE
A 12| B 5L 5L P L KER
A 14| FBRHE m 3.6 — —
A 15K 13 — —
AEVEEREE (B 1|pH 7.3 7.1 7.0
OKIR:C) (11) (12) (1D
B 2|D0O mg/1 12 8.9 < 0.5
B 3|BOD mg/1 < 0.5 1.0 2.9
B 4|coD mg/1 1.4 1.9 9.1
B 5/SS mg/1 1 1 9
B 6| KIGHEREEK MPN/100m1 2 0 2
B TiRER mg/1 0. 70 0.77 3.6
B 8y mg/1 0. 007 0. 008 0. 049
fidt FlC 1|FHFIUA mg/1 - — -
C 2 &®v7ryv mg/1 — — —
C 48 mg/1 — — —
C 5|67 mg/1 — — —
C 6|lt# mg/1 < 0.001 < 0.001 0.078
C  TIakeE mg/1 — — —
C 8|7 /LF/LKEE mg/1 — — —
C 9|PCB mg/1 — — —
C 10|rYV T L mg/1 — — —
C 1|7 ro7ZuupxFLv mg/1 — — —
C 12|UEfbiRE mg/1 — — —
C 13|¥7nmuaRrB mg/1 — — —
C l4/1:2-Y/uonuxH mg/1 — — —
C 15|1:1-1FNV 7= mg/1 — — —
C 16|1-1- 2NV Zummp=H mg/1 — — —
C 17|1-1-YZ/mpnxFL mg/1 — — —
C 18| %-1-2¥V/mu=xFL mg/1 — — —
C 19/1:3-YZ7unrra~yr mg/1 — — —
C 20|F %75 A mg/1 — — —
C 21|y~ (CAT) mg/1 — — —
C 22| FARANT mg/1 — — —
C 23|y Pr mg/1 — — —
C 24lELv mg/1 — — —
C 25|5-%% mg/1 — — —
C 26195 mg/1 — — —
BEAKHH] D 1|7/ — 1V mg/1 — — —
D 2|4 mg/1 — — —
D 3|H4 mg/1 < 0.004 0.012 0. 006
D 4\VEfRMEER mg/1 — — —
D 5EfRME~ T mg/1 — — —
D 6/(®)r7aL mg/1 — — —
FXENL |E |7 oE=THEES mg/1 < 0.05 0.11 1.7
E  2|WmBEER mg/1 0.003 0. 004 0.024
E  3|iHERREER mg/1 0.52 0. 48 < 0.02
E  4|HHEZEFE ON) mg/1 0.2 0.2 1.3
E  9A/WVbKYUERREY mg/1 < 0.003 < 0.003 < 0.003
E 24/7nmna7 ()la mg/m° 10 <9 <9
HUERBRES |F 2B E 1.1 1.2 7.5
F 5|3 RIGE {#/100m1 0 0 0
F  6|fsIEREH (0-157) et (—) faft (—) Rk (—)
F23/iEeA 4> mg/1 — — —
R E S 170010-48




[t & L b
RAEFA B Rk 184
SO 3H8H
BB (A 1[BKRATE =)= = T
A 2| RfE H — —
A 3Bk B4y 10:58 11:15 11:30
A 4 KAE (BTAKRAL) m 286. 88 — —
A 6K m 63.0 — —
A TIERAKOKEE m 0.3 31.5 62.0
A 8/&IA C 18.3 — —
A 9|/KIR C 7.9 5.1 7.6
A 115081 Bl =R Biil==Rids W EIE
A 12| B 5L 5L P L KER
A 14| FBRHE m 2.3 — —
A 15K 16 — —
AEVEEREE (B 1|pH 7.6 7.3 7.0
OKIR:C) (15) (14) (14)
B 2|D0O mg/1 13 9.6 < 0.5
B 3|BOD mg/1 1.6 0.6 3.7
B 4|coD mg/1 2.1 1.7 8.6
B 5/SS mg/1 3 2 3
B 6| KIGHEREEK MPN/100m1 2 0 2
B TiRER mg/1 0.74 0.74 3.2
B 8y mg/1 0. 009 0. 006 0. 096
fidt FlC 1|FHFIUA mg/1 - — -
C 2 &®v7ryv mg/1 — — —
C 48 mg/1 — — —
C 5|67 mg/1 — — —
C 6|lt# mg/1 < 0.001 0. 001 0. 085
C  TIakeE mg/1 — — —
C 8|7 /LF/LKEE mg/1 — — —
C 9|PCB mg/1 — — —
C 10|rYV T L mg/1 — — —
C 1|7 ro7ZuupxFLv mg/1 — — —
C 12|UEfbiRE mg/1 — — —
C 13|¥7nmuaRrB mg/1 — — —
C l4/1:2-Y/uonuxH mg/1 — — —
C 15|1:1-1FNV 7= mg/1 — — —
C 16|1-1- 2NV Zummp=H mg/1 — — —
C 17|1-1-¥Z7woao=xFL v mg/1 — — —
C 18| %-1-2¥V/mu=xFL mg/1 — — —
C 19/1:3-YZ7unrra~yr mg/1 — — —
C 20/F7F L mg/1 — — —
C 21|y~ (CAT) mg/1 — — —
C 22| FARANT mg/1 — — —
C 23|y Pr mg/1 — — —
C 24|&LV mg/1 — — —
C 25|5-%% mg/1 — — —
C 26195 mg/1 — — —
BEAKHH] D 1|7/ — 1V mg/1 — — —
D 2|8 mg/1 — — —
D 3|HEEH mg/1 — — —
D 4\VEfRMEER mg/1 — — —
D 5EfRME~ T mg/1 — — —
D 6/(®)r7aL mg/1 — — —
FXENL |E |7 oE=THEES mg/1 0.07 0. 09 3.1
E  2|WmBEER mg/1 — — -
E  3|HMEIEER mg/1 — — —
E 4| G#EZEFE (ON) mg/1 0.1 0.1 0.1
E  9A/WVbKYUERREY mg/1 < 0.003 < 0.003 0. 084
E 24|7wvaa>” ()la m,c\rm3 — — —
HUERBRES |F 2B E 2.6 1.5 3.8
F 5|3 RIGE fi&/100m1 — — —
F  6|fsIEREH (0-157) — — —
F 231 4 mg/1 — — —
R E S 170010-53




gt s & A v GBARE)
FRAEA H| SEERLITAE | ERRITE | SERRLTE | SERRLTE
FHExtg 2H14H 2H14H 2H14H 2H15H
ML A 2 K% 5 iS5 = =
A 3|ERAKEEZ B4y 11:05 17:45 23:40 6:15
A 11448 ] | meaEl | EeEE | RaEH
A 13|BHEE cm 100 < 100 < 100 < 100 <
FRAEA H| SEERLITAE | ERRLITE | SERRLTE | SERRLTE
HExtG 6H9H 6H9H 6H9H 6H10H
MBI A 2 K% 5 iS5 5 5
A 3|ERAKEEZ B4y 11:05 17:16 23:00 6:32
A 11448 et | meaEl | EaEl | RaEH
A 13|BHEE cm 100 < 100 < 100 < 100 <
FRAEA H| SEERLITAE | ERRLITE | SERRLTE | SERRLTE
HExS 8H3H 8H4H 8H4H 8H4H
MBI A 2 K% iS5 iS5 5 iS5
A 3ERKIEH B4y 11:25 17:15 22:32 7:00
A 11448 et | meaEl | EaEl | RaEH
A 13|BHEE cm 100 < 100 < 100 < 100 <
PAEA B ERITE | SEARITE | SERRITAE | ERRLTA
HEXtG 11724H 117 24H 117 24H 11725H
ML A 2 K% iS5 iS5 5 =
A 3ERKEEH B4y 12:30 17:15 22:35 6:40
A 111448 et | meaEl | EaEE | RaEH
A 13|BHEE cm 100 < 100 < 100 < 100 <
FHAEA H| SEEKISHE | ERKISHE | SERKISHE | SEAK1ISEE
HExS 2H2H 2H2H 2H2H 2H3H
MBI A 2 K% 5 5 5 5
A 3|ERAKEEZ B4y 11:45 17:00 22:40 6:20
A 11448 faEl] | meaEl | EaEE | RaEH
A 13|BHEE cm 100 < 100 < 100 < 100 <




[y B
RAEFA B R THE
AR % 1A128
BB (A 1[BKRATE 9 = T
A 2| KfE 5 — —
A 3Bk B4y 11:13 11:20 11:25
A 4 KAE (BTAKRAL) m 281. 27 — —
A 6K m 19.6 — —
A TIERAKOKEE m 0.3 9.8 18.6
A 8/&IA C 1.5 — —
A 9|/KIR C 6.7 6.7 6.1
A 111508 Bl =R Bl =R Bl =R
A 12| B 5L 5L 5L
A 14| m 2.2 — —
A 15K 13 — —
AEVEEREE (B 1|pH 7.3 7.4 7.6
OKIR:C) (9) (9) (11
B 2|D0O mg/1 12 12 2.8
B 3|BOD mg/1 1.1 0.9 1.1
B 4|coD mg/1 2.5 2.4 2.4
B 5/SS mg/1 4 4 4
B 6| KIGHEREEK MPN/100m1 49 17 49
B TiRER mg/1 0.52 0. 56 0. 56
B 8y mg/1 0.017 0. 020 0.015
fidt FlC 1|FHFIUA mg/1 - — -
C 2 &®v7ryv mg/1 — — —
C 48 mg/1 — — —
C 5|67 mg/1 — — —
C 6|lt# mg/1 < 0.001 < 0.001 < 0.001
C  TIakeE mg/1 — — —
C 8|7 /LF/LKEE mg/1 — — —
C 9|PCB mg/1 — — —
C 10|rYV T L mg/1 — — —
C 1|7 ro7ZuupxFLv mg/1 — — —
C 12|UEfbiRE mg/1 — — —
C 13|¥7nmuaRrB mg/1 — — —
C l4/1:2-Y/uonuxH mg/1 — — —
C 15|1:1-1FNV 7= mg/1 — — —
C 16|1-1- 2NV Zummp=H mg/1 — — —
C 17|1-1-¥Z7woao=xFL v mg/1 — — —
C 18| %-1-2¥V/mu=xFL mg/1 — — —
C 19/1:3-YZ7unrra~yr mg/1 — — —
C 20|F %75 A mg/1 — — —
C 21|y~ (CAT) mg/1 — — —
C 22| FARANT mg/1 — — —
C 23|y Pr mg/1 — — —
C 24lELv mg/1 — — —
C 25|5-%% mg/1 — — —
C 26195 mg/1 — — —
BEAKHH] D 1|7/ — 1V mg/1 — — —
D 2|4 mg/1 — — —
D 3|HEEH mg/1 — — —
D 4\VEfRMEER mg/1 — — —
D 5EfRME~ T mg/1 — — —
D 6/(®)r7aL mg/1 — — —
FXENL |E |7 oE=THEES mg/1 < 0.05 < 0.05 < 0.05
E  2|WmBEER mg/1 — — -
E  3|HMEIEER mg/1 — — —
E 4| G#EZEFE (ON) mg/1 0.2 0.2 0.2
E  9A/WVbKYUERREY mg/1 < 0.003 < 0.003 0. 007
E 24|7wvaa>” ()la m,c\rm3 — — —
HUERBRES |F 2B E 3.3 3.9 3.5
F 5|3 %RIGE fi&/100m1 — - —
F  6|fsIEREH (0-157) — — —
F_ 231 4 mg/1 — — —
HHBIEHE S 160010-58




[y B
RAEFA B R THE
AR % 2H14H
BB (A 1[BKRATE =)= = T
A 2| RfE B — —
A 3Bk B4y 11:23 11:25 11:36
A 4 KAE (BTAKRAL) m 282.53 — —
A 6K m 21.0 — —
A TIERAKOKEE m 0.3 10. 5 20. 0
A 8/&IA C 7.0 — —
A 9PKIR C 5.9 5.1 5.0
A 115081 Bl =R Biil==Rids Bl =R
A 12| B 5L 5L i 5L
A 14| FBRHE m 2.6 — —
A 15K 12 — —
AEVEEREE (B 1|pH 7.4 7.3 7.1
OKIR:C) (15) (14) (15)
B 2|D0O mg/1 13 13 12
B 3|BOD mg/1 0.7 2.0 1.0
B 4|coD mg/1 1.9 2.3 2.6
B 5/SS mg/1 2 3 11
B 6| KIGERE MPN/100ml1 130 130 79
B TiRER mg/1 0. 70 0.79 0.73
B 8y mg/1 0.013 0.016 0. 024
fidt FlC 1|FHFIUA mg/1 - — -
C 2 &®v7ryv mg/1 — — —
C 48 mg/1 — — —
C 5|67 mg/1 — — —
C 6|lt# mg/1 0. 001 0. 001 0. 002
C  TIakeE mg/1 — — —
C 8|7 /LF/LKEE mg/1 — — —
C 9|PCB mg/1 — — —
C 10|rYV T L mg/1 — — —
C 1|7 ro7ZuupxFLv mg/1 — — —
C 12|UEfbiRE mg/1 — — —
C 13|¥7nmuaRrB mg/1 — — —
C l4/1:2-Y/uonuxH mg/1 — — —
C 15|1:1-1FNV 7= mg/1 — — —
C 16|1-1- 2NV Zummp=H mg/1 — — —
C 17|1-1-YZ/mpnxFL mg/1 — — —
C 18| %-1-2¥V/mu=xFL mg/1 — — —
C 19/1:3-YZ7unrra~yr mg/1 — — —
C 20|F %75 A mg/1 — — —
C 21|y~ (CAT) mg/1 — — —
C 22| FARANT mg/1 — — —
C 23|y Pr mg/1 — — —
C 24lELv mg/1 — — —
C 25|5-%% mg/1 — — —
C 26195 mg/1 — — —
BEAKHH] D 1|7/ — 1V mg/1 — — —
D 2|4 mg/1 — — —
D 3|H4 mg/1 < 0.004 0. 006 < 0.004
D 4\VEfRMEER mg/1 — — —
D 5EfRME~ T mg/1 — — —
D 6/(®)r7aL mg/1 — — —
FXENL |E |7 oE=THEES mg/1 < 0.05 < 0.05 < 0.05
E  2|WmBEER mg/1 0.003 0. 004 0. 002
E  3|iHERREER mg/1 0.55 0.57 0. 49
E  4|HHEZEFE ON) mg/1 0.1 0.2 0.2
E  9A/WVbKYUERREY mg/1 < 0.003 < 0.003 < 0.003
E 24/7nmna7 ()la mg/m° 14 14 12
HUERBRES |F 2B E 2.9 2.6 5.6
F 5|3 RIGE {#/100m1 2 12 8
F  6|fsIEREH (0-157) et (—) faft (—) Rk (—)
F23/iEeA 4> mg/1 — — —
HHBIEHE S 16001061




[y B
RAEFA B R TAE
SO 3H2H
BB (A 1[BKRATE =)= = T
A 2| K E — —
A 3Bk B4y 11:33 11:36 11:38
A 4 KAE (BTAKRAL) m 281. 88 — —
A 6K m 20.0 — —
A TIERAKOKEE m 0.3 10.0 19.0
A 8/&IA C 6.1 — —
A 9|/KIR C 6.0 5.5 5.1
A 115081 Bl =R Biil==Rids Bl =R
A 12| B 5L 5L i 5L
A 14| m 4.5 — —
A 15K 12 — —
AEVEEREE (B 1|pH 7.4 7.4 7.1
OKIR:C) (11) (1) (1D
B 2|D0O mg/1 12 12 12
B 3|BOD mg/1 < 0.5 1.3 < 0.5
B 4|coD mg/1 1.3 2.1 1.4
B 5/SS mg/1 1 4 2
B 6| KIGERE MPN/100ml1 240 33 240
B TiRER mg/1 0.77 0. 69 0.81
B 8y mg/1 0.014 0.015 0.016
fidt FlC 1|FHFIUA mg/1 - — -
C 2 &®v7ryv mg/1 — — —
C 48 mg/1 — — —
C 5|67 mg/1 — — —
C 6|lt# mg/1 0. 001 < 0.001 0. 001
C  TIakeE mg/1 — — —
C 8|7 /LF/LKEE mg/1 — — —
C 9|PCB mg/1 — — —
C 10|rYV T L mg/1 — — —
C 1|7 ro7ZuupxFLv mg/1 — — —
C 12|UEfbiRE mg/1 — — —
C 13|¥7nmuaRrB mg/1 — — —
C l4/1:2-Y/uonuxH mg/1 — — —
C 15|1:1-1FNV 7= mg/1 — — —
C 16|1-1- 2NV Zummp=H mg/1 — — —
C 17|1-1-¥Z7woao=xFL v mg/1 — — —
C 18| %-1-2¥V/mu=xFL mg/1 — — —
C 19/1:3-YZ7unrra~yr mg/1 — — —
C 20|F %75 A mg/1 — — —
C 21|y~ (CAT) mg/1 — — —
C 22| FARANT mg/1 — — —
C 23|y Pr mg/1 — — —
C 24lELv mg/1 — — —
C 25|5-%% mg/1 — — —
C 26195 mg/1 — — —
BEAKHH] D 1|7/ — 1V mg/1 — — —
D 2|4 mg/1 — — —
D 3|HEEH mg/1 — — —
D 4\VEfRMEER mg/1 — — —
D 5EfRME~ T mg/1 — — —
D 6/(®)r7aL mg/1 — — —
FXENL |E |7 oE=THEES mg/1 < 0.05 < 0.05 < 0.05
E  2|WmBEER mg/1 — — -
E  3|HMEIEER mg/1 — — —
E  4|HHEZEFE ON) mg/1 0.2 0.3 0.2
E 9N NY VEREEY o mg/1 0. 007 < 0.003 0. 008
E 24|7wvaa>” ()la m,c\rm3 — — —
HUERBRES |F 2B E 4.1 3.9 1.4
F 5|3 RIGE {#/100m1 — — —
F  6|fsIEREH (0-157) — — —
F23/iEeA 4> mg/1 — — —
HHBIEHE S 160010-70




[y B
RAEFA B R TAE
AR % bH26H
BB (A 1[BKRATE =)= = T
A 2| RfE H — —
A 3Bk B4y 11:18 11:20 11:35
A 4 KAE (BTAKRAL) m 286. 76 — —
A 6K m 25.0 — —
A TIERAKOKEE m 0.3 12.5 24,0
A 8/&IA C 26. 1 — —
A 9|/KIR C 18.6 8.2 8.1
A 115081 Bl =R Biil==Rids W EIE
A 12| B 5L 5L i 5L
A 14| FBRHE m 1.8 — —
A 15K 12 — —
AEVEEREE (B 1|pH 9.0 7.3 6.7
OKIR:C) (22) (21 (20)
B 2|D0O mg/1 11 9.9 3.6
B 3|BOD mg/1 1.7 1.0 1.1
B 4|coD mg/1 2.1 2.0 1.9
B 5/SS mg/1 2 4 3
B 6| KIGHEREEK MPN/100m1 4 8 17
B TiRER mg/1 0.37 0.77 0.82
B 8y mg/1 0.014 0.014 0. 056
fidt FlC 1|FHFIUA mg/1 - — -
C 2 &®v7ryv mg/1 — — —
C 48 mg/1 — — —
C 5|67 mg/1 — — —
C 6|lt# mg/1 0. 002 0. 001 0. 004
C  TIakeE mg/1 — — —
C 8|7 /LF/LKEE mg/1 — — —
C 9|PCB mg/1 — — —
C 10|rYV T L mg/1 — — —
C 1|7 ro7ZuupxFLv mg/1 — — —
C 12|UEfbiRE mg/1 — — —
C 13|¥7nmuaRrB mg/1 — — —
C l4/1:2-Y/uonuxH mg/1 — — —
C 15|1:1-1FNV 7= mg/1 — — —
C 16|1-1- 2NV Zummp=H mg/1 — — —
C 17|1-1-¥Z7woao=xFL v mg/1 — — —
C 18| %-1-2¥V/mu=xFL mg/1 — — —
C 19/1:3-YZ7unrra~yr mg/1 — — —
C 20|F %75 A mg/1 — — —
C 21|y~ (CAT) mg/1 — — —
C 22| FARANT mg/1 — — —
C 23|y Pr mg/1 — — —
C 24lELv mg/1 — — —
C 25|5-%% mg/1 — — —
C 26195 mg/1 — — —
BEAKHH] D 1|7/ — 1V mg/1 — — —
D 2|4 mg/1 — — —
D 3|HEEH mg/1 — — —
D 4\VEfRMEER mg/1 — — —
D 5EfRME~ T mg/1 — — —
D 6/(®)r7aL mg/1 — — —
FXENL |E |7 oE=THEES mg/1 < 0.05 0. 09 0.25
E  2|WmBEER mg/1 — — -
E  3|HMEIEER mg/1 — — —
E  4|HHEZEFE ON) mg/1 0.2 0.2 0.1
E  9A/WVbKYUERREY mg/1 < 0.003 < 0.003 < 0.003
E 24|7wvaa>” ()la m,c\rm3 — — —
HUERBRES |F 2B E 2.2 2.4 3.1
F 5|3 RIGE fi&/100m1 — — —
F  6|fsIEREH (0-157) — — —
F23/iEeA 4> mg/1 — — —
HHBIEHE S 170010-2




[y B
RAEFA B R TAE
SO 6H9H
BB (A 1[BKRATE =)= = T
A 2| RfE B — —
A 3Bk B4y 14:45 15:00 15:10
A 4 KAE (BTAKRAL) m 285. 16 — —
A 6K m 24. 1 — —
A TIERAKOKEE m 0.3 12.0 23.0
A 8/&IA C 29. 1 — —
A 9|/KIR C 22.5 7.2 6.0
A 114081 Bl =R Biil==Rids W EIE
A 12| B 5L 5L i 5L
A 14| m 3.0 — —
A 15K 12 — —
AEVEEREE (B 1|pH 9.2 6.8 6.5
OKIR:C) (16) (17) (16)
B 2|D0O mg/1 10 9.1 2.2
B 3|BOD mg/1 1.4 2.0 < 0.5
B 4|coD mg/1 2.2 1.5 1.9
B 5/SS mg/1 <1 1 3
B 6| KIGHEREEK MPN/100m1 4 4 2
B TiRER mg/1 0.28 0.66 0.79
B 8l#U v mg/1 0.014 0. 009 0. 029
{7 BEIC 1A FRITL mg/1 < 0.001 < 0.001 < 0.001
cC 2/®y7ry mg/1 < 0.1 < 0.1 < 0.1
C 48 mg/1 < 0.005 < 0.005 < 0.005
C 5/6ffiraxi mg/1 < 0.005 < 0.005 < 0.005
C 6|k mg/1 0. 002 < 0.001 0. 003
C  7|fAKER mg/1 < 0. 0005 < 0. 0005 < 0. 0005
C 8|7 AFkEE mg/1 < 0. 0005 < 0. 0005 < 0. 0005
C 9|PCB mg/1 < 0. 0005 < 0. 0005 < 0. 0005
C 10|rYZoo=FlL v mg/1 < 0.001 < 0.001 < 0.001
C N|FrIZ7ppFL v mg/1 < 0.001 < 0.001 < 0.001
C 12|VuHEfkiRH mg/1 < 0.0002 < 0.0002 < 0.0002
C 13|¥Z7muRrBy mg/1 < 0.001 < 0.001 < 0.001
C 14|1-2-Y7uono=x® mg/1 < 0. 0004 < 0. 0004 < 0. 0004
C 15|1-1-1pVZmBEZH mg/1 < 0.001 < 0.001 < 0.001
C 16/1-1-2hV BT H mg/1 < 0. 0006 < 0. 0006 < 0. 0006
C 171-1-¥ZaouaxFL v mg/1 < 0.001 < 0.001 < 0.001
C 18| %-1-2¥V/mu=xFL mg/1 < 0.001 < 0.001 < 0.001
C 19|1-3-Y7umrmra~ mg/1 < 0. 0002 < 0. 0002 < 0. 0002
C 20/F7F L mg/1 < 0. 0006 < 0. 0006 < 0. 0006
C 21|y~ (CAT) mg/1 < 0.0003 < 0.0003 < 0.0003
C 2)FF T mg/1 < 0.001 < 0.001 < 0.001
C 23|y Pr mg/1 < 0.001 < 0.001 < 0.001
C 24|&LV mg/1 < 0.002 < 0.002 < 0.002
C 25|53 mg/1 0.1 < 0.1 < 0.1
C 26195 mg/1 < 0.1 < 0.1 < 0.1
BEAKHH] D 1|7/ — 1V mg/1 — — —
D 2|8 mg/1 — — —
D 3|H4H mg/1 < 0.004 < 0.004 < 0.004
D 4\VEfRMEER mg/1 — — —
D 5EfRME~ T mg/1 — — —
D 6/(®)r7aL mg/1 — — —
FXENL |E |7 oE=THEES mg/1 < 0.05 < 0.05 0. 20
E  2|WmBEER mg/1 0.003 0. 006 < 0.001
E  3|iHERREER mg/1 0.10 0. 50 0. 47
E  4|HHEZEFE ON) mg/1 0.2 0.2 0.1
E  9A/WVbKYUERREY mg/1 < 0.003 < 0.003 0. 003
E 24|Z7nou~>7 ()a mg/m° 4 14 7
HUERBRES |F 2B E 1.8 1.7 4.3
F 5|3 RIGE {#/100m1 4 0 0
F  6|fsIEREH (0-157) faft: (—) faft (—) Rk (—)
F23/iEeA 4> mg/1 11 12 14
LR E S 170010-5




[y B
RAEFA B R TAE
AR % TH21H
BB (A 1[BKRATE =)= = T
A 2| RfE H — —
A 3Bk B4y 12:14 12:30 12:38
A 4 KAE (BTAKRAL) m 286. 92 — —
A 6K m 26.0 — —
A TIERAKOKEE m 0.3 13.0 25.0
A 8/&IA C 30.0 — —
A 9|/KIR C 25.7 11.0 7.7
A 115081 Bl =R Biil==Rids Bl =R
A 12| B 5L 5L i 5L
A 14| m 2.5 — —
A 15K 12 — —
AEVEEREE (B 1|pH 9.1 6.7 6.5
OKIR:C) (18) (18) (23)
B 2|D0O mg/1 11 8.9 2.4
B 3|BOD mg/1 1.3 0.5 < 0.5
B 4|coD mg/1 2.3 0.9 1.5
B 5/SS mg/1 2 2 2
B 6| KIGERE MPN/100ml1 7,900 1, 100 79
B TiRER mg/1 0.53 0. 65 0.63
B 8y mg/1 0. 031 0.012 0.015
fidt FlC 1|FHFIUA mg/1 - — -
C 2 &®v7ryv mg/1 — — —
C 48 mg/1 — — —
C 5|67 mg/1 — — —
C 6|lt# mg/1 0. 001 < 0.001 0. 002
C  TIakeE mg/1 — — —
C 8|7 /LF/LKEE mg/1 — — —
C 9|PCB mg/1 — — —
C 10|rYV T L mg/1 — — —
C 1|7 ro7ZuupxFLv mg/1 — — —
C 12|UEfbiRE mg/1 — — —
C 13|¥7nmuaRrB mg/1 — — —
C l4/1:2-Y/uonuxH mg/1 — — —
C 15|1:1-1FNV 7= mg/1 — — —
C 16|1-1- 2NV Zummp=H mg/1 — — —
C 17|1-1-¥Z7woao=xFL v mg/1 — — —
C 18| %-1-2¥V/mu=xFL mg/1 — — —
C 19/1:3-YZ7unrra~yr mg/1 — — —
C 20/F7F L mg/1 — — —
C 21|y~ (CAT) mg/1 — — —
C 22| FARANT mg/1 — — —
C 23|y Pr mg/1 — — —
C 24|&LV mg/1 — — —
C 25|5-%% mg/1 — — —
C 26195 mg/1 — — —
BEAKHH] D 1|7/ — 1V mg/1 — — —
D 2|8 mg/1 — — —
D 3|HEEH mg/1 — — —
D 4\VEfRMEER mg/1 — — —
D 5EfRME~ T mg/1 — — —
D 6/(®)r7aL mg/1 — — —
FXENL |E |7 oE=THEES mg/1 < 0.05 0.07 0.16
E  2|WmBEER mg/1 — — -
E  3|HMEIEER mg/1 — — —
E  4|HHEZEFE ON) mg/1 0.4 0.3 0.2
E  9A/WVbKYUERREY mg/1 < 0.003 0. 003 < 0.003
E 24|7wvaa>” ()la m,c\rm3 — — —
HUERBRES |F 2B E 1.8 1.4 1.8
F 5|3 RIGE fi&/100m1 — — —
F  6|fsIEREH (0-157) — — —
F23/iEeA 4> mg/1 — — —
LR E S 170010-14




[y B
RAEFA B R TAE
SO 8H3H
BB (A 1[BKRATE =)= = T
A 2| RfE B — —
A 3Bk B4y 12:20 12:24 12:32
A 4 KAE (BTAKRAL) m 286. 77 — —
A 6K m 25.0 — —
A TIERAKOKEE m 0.3 12.5 24,0
A 8/&IA C 33.3 — —
A 9|/KIR C 25.7 7.5 6.4
A 115081 Bl =R Biil==Rids Bl =R
A 12| B 5L 5L i 5L
A 14| FBRHE m 3.0 — —
A 15K 12 — —
AEVEEREE (B 1|pH 8.9 6.9 6.4
OKIR:C) (25) (22) (21
B 2|D0O mg/1 9.6 8.9 2.6
B 3|BOD mg/1 1.0 0.7 < 0.5
B 4|coD mg/1 2.5 1.5 1.9
B 5/SS mg/1 1 <1 1
B 6| KIGERE MPN/100ml1 2, 300 270 1, 400
B TiRER mg/1 0. 46 0.63 0.79
B 8y mg/1 0.023 0. 007 0. 020
fidt FlC 1|FHFIUA mg/1 - — -
C 2 &®v7ryv mg/1 — — —
C 48 mg/1 — — —
C 5|67 mg/1 — — —
C 6|lt# mg/1 0. 001 < 0.001 0. 001
C  TIakeE mg/1 — — —
C 8|7 /LF/LKEE mg/1 — — —
C 9|PCB mg/1 — — —
C 10|rYV T L mg/1 — — —
C 1|7 ro7ZuupxFLv mg/1 — — —
C 12|UEfbiRE mg/1 — — —
C 13|¥7nmuaRrB mg/1 — — —
C l4/1:2-Y/uonuxH mg/1 — — —
C 15|1:1-1FNV 7= mg/1 — — —
C 16|1-1- 2NV Zummp=H mg/1 — — —
C 17|1-1-¥Z7woao=xFL v mg/1 — — —
C 18| %-1-2¥V/mu=xFL mg/1 — — —
C 19/1:3-YZ7unrra~yr mg/1 — — —
C 20|F %75 A mg/1 < 0. 0006 < 0. 0006 < 0. 0006
C 21|y~ (CAT) mg/1 < 0.0003 < 0.0003 < 0.0003
C 2)FF T mg/1 < 0.001 < 0.001 < 0.001
C 23|y Pr mg/1 — — —
C 24lELv mg/1 — — —
C 25|5-%% mg/1 — — —
C 26195 mg/1 — — —
BEAKHH] D 1|7/ — 1V mg/1 — — —
D 2|4 mg/1 — — —
D 3|H4 mg/1 < 0.004 0. 008 0.017
D 4\VEfRMEER mg/1 — — —
D 5EfRME~ T mg/1 — — —
D 6/(®)r7aL mg/1 — — —
FXENL |E |7 oE=THEES mg/1 < 0.05 0. 08 0.15
E  2|WmBEER mg/1 0.003 0. 004 0. 002
E  3|iHERREER mg/1 0.08 0.18 0. 20
E  4|HHEZEFE ON) mg/1 0.4 0.4 0.4
E  9A/WVbKYUERREY mg/1 < 0.003 0. 004 < 0.003
E 24|Z7nou~>7 ()a me/m’ 8 <9 <9
HUERBRES |F 2B E 1.6 1.0 1.8
F 5|3 RIGE {#/100m1 0 2 4
F  6|fsIEREH (0-157) faft: (—) faft (—) Rk (—)
F23/iEeA 4> mg/1 9.6 12 13
HHBIEHE S 170010-19




[y B
RAEFA B R TAE
AR % SH26H
BB (A 1[BKRATE =)= = T
A 2| RfE H — —
A 3Bk B4y 11:30 11:35 11:40
A 4 KAE (BTAKRAL) m 286. 79 — —
A 6K m 26.0 — —
A TIERAKOKEE m 0.3 13.0 25.0
A 8/&IA C 25.5 — —
A 9|/KIR C 21.1 18. 1 6.4
A 115081 Bl =R Biil==Rids Bl =R
A 12| B 5L 5L i 5L
A 14| m 2.9 — —
A 15K 9 — —
AEVEEREE (B 1|pH 9.4 6.6 6.5
OKIR:C) (21) (20) (20)
B 2|D0O mg/1 11 6.0 2.3
B 3|BOD mg/1 1.8 0.6 1.0
B 4|coD mg/1 2.7 1.8 2.3
B 5/SS mg/1 2 3 11
B 6| KIGERE MPN/100ml1 7,900 1, 100 1, 400
B TiRER mg/1 0. 68 0.74 0.73
B 8y mg/1 0.023 0.014 0. 042
fidt FlC 1|FHFIUA mg/1 - — -
C 2 &®v7ryv mg/1 — — —
C 48 mg/1 — — —
C 5|67 mg/1 — — —
C 6|lt# mg/1 < 0.001 < 0.001 0. 002
C  TIakeE mg/1 — — —
C 8|7 /LF/LKEE mg/1 — — —
C 9|PCB mg/1 — — —
C 10|rYV T L mg/1 — — —
C 1|7 ro7ZuupxFLv mg/1 — — —
C 12|UEfbiRE mg/1 — — —
C 13|¥7nmuaRrB mg/1 — — —
C l4/1:2-Y/uonuxH mg/1 — — —
C 15|1:1-1FNV 7= mg/1 — — —
C 16|1-1- 2NV Zummp=H mg/1 — — —
C 17|1-1-¥Z7woao=xFL v mg/1 — — —
C 18| %-1-2¥V/mu=xFL mg/1 — — —
C 19/1:3-YZ7unrra~yr mg/1 — — —
C 20/F7F L mg/1 — — —
C 21|y~ (CAT) mg/1 — — —
C 22| FARANT mg/1 — — —
C 23|y Pr mg/1 — — —
C 24|&LV mg/1 — — —
C 25|5-%% mg/1 — — —
C 26195 mg/1 — — —
BEAKHH] D 1|7/ — 1V mg/1 — — —
D 2|4 mg/1 — — —
D 3|HEEH mg/1 — — —
D 4\VEfRMEER mg/1 — — —
D 5EfRME~ T mg/1 — — —
D 6/(®)r7aL mg/1 — — —
FXENL |E |7 oE=THEES mg/1 < 0.05 < 0.05 0.17
E  2|WmBEER mg/1 — — -
E  3|HMEIEER mg/1 — — —
E  4|HHEZEFE ON) mg/1 0.5 0.5 0.4
E  9A/WVbKYUERREY mg/1 < 0.003 0. 004 < 0.003
E 24|7wvaa>” ()la m,c\rm3 — — —
HUERBRES |F 2B E 2.0 4.4 6.0
F 5|3 RIGE fi&/100m1 — — —
F  6|fsIEREH (0-157) — — —
F23/iEeA 4> mg/1 — — —
LR E S 170010-27




[y B
RAEFA B R TAE
SO 107 12H
BB (A 1[BKRATE =)= = T
A 2| RfE B — —
A 3Bk B4y 11:38 11:42 11:45
A 4 KAE (BTAKRAL) m 286. 54 — —
A 6K m 26.0 — —
A TIERAKOKEE m 0.3 13.0 25.0
A 8/&IA C 26.7 — —
A 9|/KIR C 20. 7 7.7 6.6
A 111508 Bl =R Biil==Rids Bl =R
A 12| B 5L 5L i 5L
A 14| m 1.2 — —
A 15K 8 — —
AEVEEREE (B 1|pH 9.6 6.7 6.7
OKIR:C) (22) (20) (20)
B 2|D0O mg/1 11 5.8 2.3
B 3|BOD mg/1 2.3 0.7 0.6
B 4|coD mg/1 6.3 1.6 2.1
B 5/SS mg/1 7 3 3
B 6| KIGERE MPN/100ml1 1, 100 700 1, 100
B T#ESR mg/1 0.93 0.75 0.63
B 8l#U v mg/1 0. 028 0.012 0. 023
{7 BEIC 1A FRITL mg/1 < 0.001 < 0.001 < 0.001
cC 2/®y7ry mg/1 < 0.1 < 0.1 < 0.1
C 48 mg/1 < 0.005 < 0.005 < 0.005
C 5/6ffiraxi mg/1 < 0.005 < 0.005 < 0.005
C 6|k mg/1 0. 002 < 0.001 0. 002
C  7|fAKER mg/1 < 0. 0005 < 0. 0005 < 0. 0005
C 8|7 AFkEE mg/1 < 0. 0005 < 0. 0005 < 0. 0005
C 9|PCB mg/1 < 0. 0005 < 0. 0005 < 0. 0005
C 10|rYZoo=FlL v mg/1 < 0.001 < 0.001 < 0.001
C N|FrIZ7ppFL v mg/1 < 0.001 < 0.001 < 0.001
C 12|VuHEfkiRH mg/1 < 0.0002 < 0.0002 < 0.0002
C 13|¥Z7muRrBy mg/1 < 0.001 < 0.001 < 0.001
C 14|1-2-Y7uono=x® mg/1 < 0. 0004 < 0. 0004 < 0. 0004
C 15|1-1-1pVZmBEZH mg/1 < 0.001 < 0.001 < 0.001
C 16/1-1-2hV BT H mg/1 < 0. 0006 < 0. 0006 < 0. 0006
C 171-1-¥ZaouaxFL v mg/1 < 0.001 < 0.001 < 0.001
C 18| %-1-2¥V/mu=xFL mg/1 < 0.001 < 0.001 < 0.001
C 19|1-3-Y7umrmra~ mg/1 < 0. 0002 < 0. 0002 < 0. 0002
C 20/F7F L mg/1 — — —
C 21|y~ (CAT) mg/1 — — —
C 22| FARANT mg/1 — — —
C 23|y Pr mg/1 < 0.001 < 0.001 < 0.001
C 24|&LV mg/1 < 0.002 < 0.002 < 0.002
C 25|53 mg/1 < 0.1 < 0.1 0.1
C 26195 mg/1 < 0.1 < 0.1 < 0.1
BEAKHH] D 1|7/ — 1V mg/1 — — —
D 2|8 mg/1 — — —
D 3|HESh mg/1 — — —
D 4\VEfRMEER mg/1 — — —
D 5EfRME~ T mg/1 — — —
D 6/(®)r7aL mg/1 — — —
FXENL |E |7 oE=THEES mg/1 < 0.05 < 0.05 0.17
E  2|WmBEER mg/1 — — -
E  3|HMEIEER mg/1 — — —
E  4|HHEZEFE ON) mg/1 0.8 0.5 0.3
E 9|4V RY ERBEY o mg/1 0. 006 0. 006 < 0.003
E 24|7wvaa>” ()la m,c\rm3 — — —
HUERBRES |F 2B E 2.9 3.0 3.8
F 5|3 RIGE {#/100m1 — — —
F  6|fsIEREH (0-157) — — —
F23/iEeA 4> mg/1 — — —
LR E S 170010-32




[y B
RAEFA B R THE
SO 11H17H
BB (A 1[BKRATE =)= = T
A 2| K E — —
A 3Bk B4y 12:05 12:10 12:15
A 4 KAE (BTAKRAL) m 286. 07 — —
A 6K m 25.0 — —
A TIERAKOKEE m 0.3 12.5 22.0
A 8/&IA C 12.5 — —
A 9PKIR C 13.4 12.3 6.6
A 11448 Bl =R Biil==Rids W EIE
A 12| BR R 5L SR b KFER
A 14|FBHE m 1.6 — —
A 15K 9 — —
AVEREEE B 1|pH 7.7 7.0 7.2
OKIR:C) (13) (13) (12)
B 2|D0O mg/1 10 4.9 1.3
B 3|BOD mg/1 1.3 1.2 1.2
B 4|COD mg/1 4.0 1.7 2.5
B 5|SS mg/1 4 2 4
B 6| KIGHEREEK MPN/100m1 49 27 79
B TiRER mg/1 0.83 0. 69 0. 45
B 8y mg/1 0.014 0. 007 0.013
fidt B (|C 1| FIUA mg/1 - — -
C 2 &®v7ryv mg/1 — — —
C 4|8 mg/1 — — —
C 5|67 mg/1 — — —
C 6|lt# mg/1 0. 002 0. 001 0. 005
C  TIakeE mg/1 — — —
C 8|7 /LF/LKEE mg/1 — — —
C 9|PCB mg/1 — — —
C 10|rYV T L mg/1 — — —
C 1|7 ro7ZuupxFLv mg/1 — — —
C 12|UEfbiRE mg/1 — — —
C 13|¥7nmuaRrB mg/1 — — —
C l4/1:2-Y/uonuxH mg/1 — — —
C 15|1:1-1FNV 7= mg/1 — — —
C 16|1-1- 2NV Zummp=H mg/1 — — —
C 17|1-1-YZ/mpnxFL mg/1 — — —
C 18| %-1-2¥V/mu=xFL mg/1 — — —
C 19/1:3-YZ7unrra~yr mg/1 — — —
C 20|F %75 A mg/1 — — —
C 21|y~ (CAT) mg/1 — — —
C 22| FARANT mg/1 — — —
c 23| ¥ mg/1 — — —
C 24lELv mg/1 — — —
C 25|5-%% mg/1 — — —
C 26195 mg/1 — — —
HeAHSH (D 1|7/ —nHH mg/1 < 0.05 < 0.05 < 0.05
D 2|4 mg/1 < 0.004 < 0.004 < 0.004
D 3|H4 mg/1 < 0.004 < 0.004 0. 007
D 4\IEfREER mg/1 < 0.03 < 0.03 0.19
D 5\fRE~ T mg/1 0. 007 0.12 0. 66
D 6/() i mg/1 < 0.05 < 0.05 < 0.05
FXENL |E |7 oE=THEES mg/1 < 0.05 < 0.05 0.26
E  2|WmBEER mg/1 0. 002 0. 002 0.003
E  3|iHERREER mg/1 0.23 0.25 0.03
E  4|HHEZEFE ON) mg/1 0.6 0.4 0.2
E  9A/WVbKYUERREY mg/1 < 0.003 < 0.003 < 0.003
E 24|Z7nou~>7 ()a me/m’ 24 3 2
HUERBRES |F 2B E 2.6 1.7 7.8
F 5|3 RIGE {#/100m1 8 8 20
F  6|fsIEREH (0-157) et (—) faft (—) Rk (—)
F23/iEeA 4> mg/1 — — —
HHBIEHE S 170010-37




[y B
RAEFA B R TAE
SO 12720 H
BB (A 1[BKRATE =)= = T
A 2| RfE H — —
A 3Bk B4y 12:05 12:10 12:15
A 4 KAE (BTAKRAL) m 283. 10 — —
A 6K m 20.0 — —
A TIERAKOKEE m 0.3 10.0 19.0
A 8/&IA C 5.6 — —
A 9|/KIR C 6.7 6.2 5.7
A 115081 Bl =R Biil==Rids Bl =R
A 12| B 5L 5L i 5L
A 14| FBRHE m 3.5 — —
A 15K 8 — —
AEVEEREE (B 1|pH 7.0 7.0 7.0
OKIR:C) (13) (12) (12)
B 2|D0O mg/1 9.2 9.6 10
B 3|BOD mg/1 0.6 0.7 0.8
B 4|coD mg/1 1.8 2.1 2.0
B 5/SS mg/1 1 2 2
B 6| KIGERE MPN/100ml1 240 70 240
B TiRER mg/1 0. 60 0. 65 0. 69
B 8y mg/1 0. 007 0.010 0. 008
it FlC 1|FHFIUA mg/1 - — -
C 2 &®v7ryv mg/1 — — —
C 48 mg/1 — — —
C 5|67 mg/1 — — —
C 6|lt# mg/1 0. 001 < 0.001 0. 001
C  TIakeE mg/1 — — —
C 8|7 /LF/LKEE mg/1 — — —
C 9|PCB mg/1 — — —
C 10|rYV T L mg/1 — — —
C 1|7 ro7ZuupxFLv mg/1 — — —
C 12|UEfbiRE mg/1 — — —
C 13|¥7nmuaRrB mg/1 — — —
C l4/1:2-Y/uonuxH mg/1 — — —
C 15|1:1-1FNV 7= mg/1 — — —
C 16|1-1- 2NV Zummp=H mg/1 — — —
C 17|1-1-¥Z7woao=xFL v mg/1 — — —
C 18| %-1-2¥V/mu=xFL mg/1 — — —
C 19/1:3-YZ7unrra~yr mg/1 — — —
C 20/F7F L mg/1 — — —
C 21|y~ (CAT) mg/1 — — —
C 22| FARANT mg/1 — — —
C 23|y Pr mg/1 — — —
C 24|&LV mg/1 — — —
C 25|5-%% mg/1 — — —
C 26195 mg/1 — — —
BEAKHH] D 1|7/ — 1V mg/1 — — —
D 2|8 mg/1 — — —
D 3|HEEH mg/1 — — —
D 4\VEfRMEER mg/1 — — —
D 5EfRME~ T mg/1 — — —
D 6/(®)r7aL mg/1 — — —
FXENL |E |7 oE=THEES mg/1 < 0.05 < 0.05 < 0.05
E  2|WmBEER mg/1 — — -
E  3|HMEIEER mg/1 — — —
E 4| G#EZEFE (ON) mg/1 0.1 0.2 0.2
E  9A/WVbKYUERREY mg/1 < 0.003 < 0.003 < 0.003
E 24|7wvaa>” ()la m,c\rm3 — — —
HUERBRES |F 2B E 2.2 2.1 2.7
F 5|3 RIGE fi&/100m1 — — —
F  6|fsIEREH (0-157) — — —
F 231 4 mg/1 — — —
LR E S 170010-42




[y B
RAEFA B Rk 184
AR % 17128
BB (A 1[BKRATE =)= = T
A 2| RfE H — —
A 3Bk B4y 12:00 12:10 12:15
A 4 KAE (BTAKRAL) m 282. 84 — —
A 6K m 23.0 — —
A TIERAKOKEE m 0.3 11.5 22.0
A 8/&IA C 7.8 — —
A 9|/KIR C 5.3 4.6 4.6
A 115081 Bl =R Biil==Rids Bl =R
A 12| B 5L 5L i 5L
A 14| FBRHE m 5.5 — —
A 15K 12 — —
AEVEEREE (B 1|pH 7.4 7.2 7.4
OKIR:C) (9) (9) (10)
B 2|D0O mg/1 10 10 11
B 3|BOD mg/1 0.7 0.7 0.6
B 4|coD mg/1 1.9 1.7 3.0
B 5/SS mg/1 1 2 19
B 6| KIGHEREEK MPN/100m1 2 2 13
B TiRER mg/1 0.63 0.63 0. 69
B 8y mg/1 0. 007 0.010 0. 028
fidt FlC 1|FHFIUA mg/1 - — -
C 2 &®v7ryv mg/1 — — —
C 48 mg/1 — — —
C 5|67 mg/1 — — —
C 6|lt# mg/1 < 0.001 < 0.001 0. 002
C  TIakeE mg/1 — — —
C 8|7 /LF/LKEE mg/1 — — —
C 9|PCB mg/1 — — —
C 10|rYV T L mg/1 — — —
C 1|7 ro7ZuupxFLv mg/1 — — —
C 12|UEfbiRE mg/1 — — —
C 13|¥7nmuaRrB mg/1 — — —
C l4/1:2-Y/uonuxH mg/1 — — —
C 15|1:1-1FNV 7= mg/1 — — —
C 16|1-1- 2NV Zummp=H mg/1 — — —
C 17|1-1-¥Z7woao=xFL v mg/1 — — —
C 18| %-1-2¥V/mu=xFL mg/1 — — —
C 19/1:3-YZ7unrra~yr mg/1 — — —
C 20|F %75 A mg/1 — — —
C 21|y~ (CAT) mg/1 — — —
C 22| FARANT mg/1 — — —
C 23|y Pr mg/1 — — —
C 24lELv mg/1 — — —
C 25|5-%% mg/1 — — —
C 26195 mg/1 — — —
BEAKHH] D 1|7/ — 1V mg/1 — — —
D 2|4 mg/1 — — —
D 3|HEEH mg/1 — — —
D 4\VEfRMEER mg/1 — — —
D 5EfRME~ T mg/1 — — —
D 6/(®)r7aL mg/1 — — —
FXENL |E |7 oE=THEES mg/1 0. 06 < 0.05 0. 06
E  2|WmBEER mg/1 — — -
E  3|HMEIEER mg/1 — — —
E  4|HHEZEFE ON) mg/1 0.1 0.2 0.1
E  9A/WVbKYUERREY mg/1 < 0.003 < 0.003 < 0.003
E 24|7wvaa>” ()la m,c\rm3 — — —
HUERBRES |F 2B E 1.1 1.3 5.0
F 5|3 RIGE fi&/100m1 — — —
F  6|fsIEREH (0-157) — — —
F23/iEeA 4> mg/1 — — —
HHBIEHE S 170010-45




[y B
RAEFA B TRk 184
SO 2H2H
BB (A 1[BKRATE =)= = T
A 2| RfE H — —
A 3Bk B4y 12:15 12:30 12:45
A 4 KAE (BTAKRAL) m 284. 07 — —
A 6K m 23.0 — —
A TIERAKOKEE m 0.3 11.5 22.0
A 8/&IA C 12.5 — —
A 9|/KIR C 7.2 5.2 5.1
A 115081 Bl =R Biil==Rids Bl =R
A 12| B 5L 5L i 5L
A 14| m 2.0 — —
A 15K 9 — —
AEVEEREE (B 1|pH 7.4 7.3 7.2
OKIR:C) (13) (12) (11)
B 2|D0O mg/1 12 10 9.3
B 3|BOD mg/1 1.4 1.3 1.1
B 4|coD mg/1 1.2 1.1 1.6
B 5/SS mg/1 2 1 2
B 6| KIGHEREEK MPN/100m1 49 4 17
B TiRER mg/1 0.99 0. 85 0. 88
B 8y mg/1 0.014 0.011 0.012
fidt FlC 1|FHFIUA mg/1 - — -
C 2 &®v7ryv mg/1 — — —
C 48 mg/1 — — —
C 5|67 mg/1 — — —
C 6|lt# mg/1 0. 001 0. 001 0. 001
C  TIakeE mg/1 — — —
C 8|7 /LF/LKEE mg/1 — — —
C 9|PCB mg/1 — — —
C 10|rYV T L mg/1 — — —
C 1|7 ro7ZuupxFLv mg/1 — — —
C 12|UEfbiRE mg/1 — — —
C 13|¥7nmuaRrB mg/1 — — —
C l4/1:2-Y/uonuxH mg/1 — — —
C 15|1:1-1FNV 7= mg/1 — — —
C 16|1-1- 2NV Zummp=H mg/1 — — —
C 17|1-1-¥Z7woao=xFL v mg/1 — — —
C 18| %-1-2¥V/mu=xFL mg/1 — — —
C 19/1:3-YZ7unrra~yr mg/1 — — —
C 20|F %75 A mg/1 — — —
C 21|y~ (CAT) mg/1 — — —
C 22| FARANT mg/1 — — —
C 23|y Pr mg/1 — — —
C 24lELv mg/1 — — —
C 25|5-%% mg/1 — — —
C 26195 mg/1 — — —
BEAKHH] D 1|7/ — 1V mg/1 — — —
D 2|4 mg/1 — — —
D 3|H4 mg/1 < 0.004 < 0.004 0. 004
D 4\VEfRMEER mg/1 — — —
D 5EfRME~ T mg/1 — — —
D 6/(®)r7aL mg/1 — — —
FXENL |E |7 oE=THEES mg/1 < 0.05 < 0.05 < 0.13
E  2|WmBEER mg/1 0. 004 0.003 0. 004
E  3|iHERREER mg/1 0. 90 0.74 0.68
E  4|HHEZEFE ON) mg/1 0.1 0.8 0.1
E  9A/WVbKYUERREY mg/1 0. 007 < 0.003 < 0.003
E 24|Z7nou~>7 ()a me/m’ 2 3 <9
HUERBRES |F 2B E 2.9 1.2 2.4
F 5|3 RIGE {#/100m1 0 0 5
F  6|fsIEREH (0-157) et (—) faft (—) Rk (—)
F23/iEeA 4> mg/1 — — —
HHBIEHE S 170010-48




[y B
RAEFA B Rk 184
SO 3H8H
BB (A 1[BKRATE =)= = T
A 2| RfE H — —
A 3Bk B4y 11:40 11:50 12:00
A 4 KAE (BTAKRAL) m 286. 88 — —
A 6K m 26.0 — —
A TIERAKOKEE m 0.3 13.0 25.0
A 8/&IA C 13.7 — —
A 9|/KIR C 8.0 5.4 5.3
A 115081 Bl =R Biil==Rids Bl =R
A 12| B 5L 5L i 5L
A 14| m 3.2 — —
A 15K 13 — —
AEVEEREE (B 1|pH 7.9 7.5 7.0
OKIR:C) (15) (13) (14)
B 2|D0O mg/1 13 11 10
B 3|BOD mg/1 1.2 0.8 1.1
B 4|coD mg/1 1.8 1.6 1.9
B 5/SS mg/1 2 2 4
B 6| KIGHEREEK MPN/100m1 13 2 0
B TiRER mg/1 0.75 0. 88 0. 89
B 8y mg/1 0.011 0. 009 0.011
it FlC 1|FHFIUA mg/1 - — -
C 2 &®v7ryv mg/1 — — —
C 48 mg/1 — — —
C 5|67 mg/1 — — —
C 6|lt# mg/1 0. 001 < 0.001 0. 001
C  7|fAKER mg/1 — — —
C 8|7 /LF/LKEE mg/1 — — —
C 9|PCB mg/1 — — —
C 10|rYV T L mg/1 — — —
C 1|7 ro7ZuupxFLv mg/1 — — —
C 12|UEfbiRE mg/1 — — —
C 13|¥7nmuaRrB mg/1 — — —
C l4/1:2-Y/uonuxH mg/1 — — —
C 15|1:1-1FNV 7= mg/1 — — —
C 16|1-1- 2NV Zummp=H mg/1 — — —
C 17|1-1-¥Z7woao=xFL v mg/1 — — —
C 18| %-1-2¥V/mu=xFL mg/1 — — —
C 19/1:3-YZ7unrra~yr mg/1 — — —
C 20/F7F L mg/1 — — —
C 21|y~ (CAT) mg/1 — — —
C 22| FARANT mg/1 — — —
C 23|y Pr mg/1 — — —
C 24|&LV mg/1 — — —
C 25|5-%% mg/1 — — —
C 26195 mg/1 — — —
BEAKHH] D 1|7/ — 1V mg/1 — — —
D 2|8 mg/1 — — —
D 3|HEEH mg/1 — — —
D 4\VEfRMEER mg/1 — — —
D 5EfRME~ T mg/1 — — —
D 6/(®)r7aL mg/1 — — —
FXENL |E |7 oE=THEES mg/1 < 0.05 0.07 0.16
E  2|WmBEER mg/1 — — -
E  3|HMEIEER mg/1 — — —
E 4| G#EZEFE (ON) mg/1 0.1 0.2 0.1
E  9A/WVbKYUERREY mg/1 < 0.003 < 0.003 < 0.003
E 24|7wvaa>” ()la m,c\rm3 — — —
HUERBRES |F 2B E 1.8 2.0 3.3
F 5|3 RIGE fi&/100m1 — — —
F  6|fsIEREH (0-157) — — —
F 231 4 mg/1 — — —
LR E S 170010-53




g s IS GBI
FRAEA H| SEERLITAE | ERRITE | SERRLTE | SERRLTE
FHExtg 2H14H 2H14H 2H14H 2H15H
ML A 2 K% 5 iS5 = =
A 3|ERAKEEZ B4y 12:50 17:55 23:30 6:10
A 11448 ] | meaEl | EeEE | RaEH
A 13|BHEE cm 100 < 100 < 100 < 100 <
FRAEA H| SEERLITAE | ERRLITE | SERRLTE | SERRLTE
HExtG 6H9H 6H9H 6H9H 6H10H
MBI A 2 K% 5 iS5 5 5
A 3|ERAKEEZ B4y 13:20 17:30 23:20 6:47
A 11448 et | meaEl | EaEl | RaEH
A 13|BHEE cm 100 < 100 < 100 < 100 <
FRAEA H| SEERLITAE | ERRLITE | SERRLTE | SERRLTE
HExS 8H3H 8H4H 8H4H 8H4H
MBI A 2 K% iS5 iS5 5 iS5
A 3ERKIEH B4y 12:00 17:35 292:48 6:49
A 11448 et | meaEl | EaEl | RaEH
A 13|BHEE cm 100 < 100 < 100 < 100 <
PAEA B ERITE | SEARITE | SERRITAE | ERRLTA
HEXtG 11724H 117 24H 117 24H 11725H
ML A 2 K% iS5 iS5 5 =
A 3ERKEEH B4y 12:40 17:15 22:20 6:24
A 111448 et | meaEl | EaEE | RaEH
A 13|BHEE cm 100 < 100 < 100 < 100 <
FHAEA H| SEEKISHE | ERKISHE | SERKISHE | SEAK1ISEE
HExS 2H2H 2H2H 2H2H 2H3H
MBI A 2 K% 5 5 5 5
A 3|ERAKEEZ B4y 12:30 17:15 22:30 6:15
A 11448 faEl] | meaEl | EaEE | RaEH
A 13|BHEE cm 100 < 100 < 100 < 100 <




